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Question Id : 9209068703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lisutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
government responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central povernment, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected government. Hobbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
povernment, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and Dhstriet Cricket Association, again because of the absence of the L(3's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BSES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without eommunicating the decision of the
LG for his Views. The only consolation for the elected government was the court saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that beyond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issuez of the wvarious
notifications published by Delhi government in exercise of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled “services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634401. 1
92090634402. 2
92090634403. 3
92090634404. 4

Question Number : 2 Question Id : 9209068705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634405. 1
92090634406. 2
92090634407. 3
92090634408. 4

Question Number : 3 Question Id : 9209068706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634409. 1
92090634410. 2
92090634411. 3
92090634412. 4

Question Number : 4 Question Id : 9209068707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634413. 1
92090634414. 2

92090634415. 3
92090634416. 4

Question Number : 5 Question Id : 9209068708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634417. 1
92090634418. 2
92090634419. 3
92090634420. 4

Question Id : 9209068703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634401. 1
92090634402. 2
92090634403. 3
92090634404. 4

Question Number : 2 Question Id : 9209068705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634405. 1
92090634406. 2
92090634407. 3
92090634408. 4

Question Number : 3 Question Id : 9209068706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634409. 1
92090634410. 2
92090634411. 3
92090634412. 4

Question Number : 4 Question Id : 9209068707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634413. 1
92090634414. 2

92090634415. 3
92090634416. 4

Question Number : 5 Question Id : 9209068708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634417. 1
92090634418. 2
92090634419. 3
92090634420. 4

Question Id : 9209068703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634401. 1
92090634402. 2
92090634403. 3
92090634404. 4

Question Number : 2 Question Id : 9209068705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634405. 1
92090634406. 2
92090634407. 3
92090634408. 4

Question Number : 3 Question Id : 9209068706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634409. 1
92090634410. 2
92090634411. 3
92090634412. 4

Question Number : 4 Question Id : 9209068707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634413. 1
92090634414. 2

92090634415. 3
92090634416. 4

Question Number : 5 Question Id : 9209068708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634417. 1
92090634418. 2
92090634419. 3
92090634420. 4

Sub-Section Number : 2
Sub-Section Id : 920906278
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E).(O), (B). (D). (A)
2)  (E)(B), (D). (C). (A)
(3) (B (C), (D). (E). (A)
(4)  (B). (D). (C). (A). (E)

Options :

92090634421. 1
92090634422. 2
92090634423. 3
92090634424. 4

Question Number : 6 Question Id : 9209068709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:

(A)

(B)

(C)
(D)

(E)

A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

To show this fire and brilliance it must be cut & faceted with pinpoint aceuracy.

Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1)
(2)
(:3)
(4)

(E). (C), (B). (D), (A)
(E). (B). (D), (C), (A)
(B). (C). (D), (E), (&)
(B). (D), (C), (&), (E)

Options :

92090634421. 1
92090634422. 2
92090634423. 3
92090634424. 4

Question Number : 6 Question Id : 9209068709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E). (O), (B), (D), (A)
2) (B, B), (D), O, (4)
(3)  (B). (C), (D), (E), (A4)
(4)  (B), (D). (C), (&), (E)

Options :

92090634421. 1
92090634422. 2
92090634423. 3
92090634424. 4

Question Number : 7 Question Id : 9209068710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism {(2) Impartiality
(3) Partiality (4) Rough
Options :

92090634425. 1
92090634426. 2
92090634427. 3
92090634428. 4

Question Number : 7 Question Id : 9209068710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090634425. 1
92090634426. 2
92090634427. 3
92090634428. 4

Question Number : 7 Question Id : 9209068710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090634425. 1
92090634426. 2
92090634427. 3
92090634428. 4

Question Number : 8 Question Id : 9209068711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3) Prescient {(4) Primadonna
Options :

92090634429. 1
92090634430. 2
92090634431. 3
92090634432. 4

Question Number : 8 Question Id : 9209068711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Pothoiler (2) Pork
(3) Prescient {4y Primadonna
Options :

92090634429. 1
92090634430. 2
92090634431. 3
92090634432. 4

Question Number : 8 Question Id : 9209068711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3 Prescient (4) Primadonna
Options :

92090634429. 1
92090634430. 2
92090634431. 3
92090634432. 4

Question Number : 9 Question Id : 9209068712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(

1 There is nothing that is more engaging than
(2

)

) I do nothing more engaging other than
(3) I know of nothing more engaging than

)

(4 There is nothing engaging for me other than

Options :

92090634433. 1
92090634434. 2
92090634435. 3
92090634436. 4

Question Number : 9 Question Id : 9209068712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

{(4) There is nothing engaging for me other than
Options :

92090634433. 1
92090634434. 2
92090634435. 3
92090634436. 4

Question Number : 9 Question Id : 9209068712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

(4) There is nothing engaging for me other than
Options :

92090634433. 1
92090634434. 2
92090634435. 3
92090634436. 4

Question Number : 10 Question Id : 9209068713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090634437. 1
92090634438. 2
92090634439. 3
92090634440. 4

Question Number : 10 Question Id : 9209068713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE

Options :



92090634437. 1
92090634438. 2
92090634439. 3
92090634440. 4

Question Number : 10 Question Id : 9209068713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090634437. 1
92090634438. 2
92090634439. 3
92090634440. 4

Question Number : 11 Question Id : 9209068714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2) a0
(3) 60 (4) 94

Options :

92090634441. 1
92090634442. 2
92090634443. 3
92090634444. 4

Question Number : 11 Question Id : 9209068714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2} BO
(3) 60 (4) 94
Options :

92090634441. 1
92090634442. 2
92090634443. 3
92090634444. 4

Question Number : 11 Question Id : 9209068714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in cm?) of a cuboid with dimensions 3cm, 4em and Sem is

(1) 47 (2) &0
(3) 60 (4) 94
Options :

92090634441. 1
92090634442. 2
92090634443. 3
92090634444. 4

Question Number : 12 Question Id : 9209068715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan20 + cos20 1s

1

(1} 3 2} —=

¥ N3

2.3

@ e (4) 28

23 5
Options :

92090634445. 1
92090634446. 2
92090634447. 3
92090634448. 4

Question Number : 12 Question Id : 9209068715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 2 sin 28 = 1, then the value of tan20 + cos20 1s

a1y =3 (2)

|

23

1.3

(3) .3 (4) 28
23 5

Options :

92090634445. 1
92090634446. 2
92090634447. 3
92090634448. 4

Question Number : 12 Question Id : 9209068715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan28 + cos20 1s

(M =B (2)

|

2.3

2.3

o (4) m{
23 5

Options :

92090634445. 1
92090634446. 2
92090634447. 3
92090634448. 4

Question Number : 13 Question Id : 9209068716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is
(1) 250 kg (2) 300 ke
(3 500 kg (4) 750 kg
Options :
92090634449. 1
92090634450. 2
92090634451. 3
92090634452. 4



Question Number : 13 Question Id : 9209068716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity =old at 18% profit i=

(1) 250 kg (2) 300 kg
(3) 500 kg (4) 750 kg
Options :

92090634449. 1
92090634450. 2
92090634451. 3
92090634452. 4

Question Number : 13 Question Id : 9209068716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is

(1) 250kg (2) 300kg
(3 500 kg (4) 750 kg
Options :

92090634449. 1
92090634450. 2
92090634451. 3
92090634452. 4

Question Number : 14 Question Id : 9209068717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634453. 1
92090634454. 2
92090634455. 3
92090634456. 4



Question Number : 14 Question Id : 9209068717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634453. 1
92090634454. 2
92090634455. 3
92090634456. 4

Question Number : 14 Question Id : 9209068717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 vears with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634453. 1
92090634454. 2
92090634455. 3
92090634456. 4

Question Number : 15 Question Id : 9209068718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 z 7

@ 6 (4) 8

Options :
92090634457. 1



92090634458. 2
92090634459. 3
92090634460. 4

Question Number : 15 Question Id : 9209068718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 2y 7

(3) 6 (4) 3

Options :

92090634457. 1
92090634458. 2
92090634459. 3
92090634460. 4

Question Number : 15 Question Id : 9209068718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A and B can do work in 12 days and 24 days respectively. They started working together but

left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

1y 5 2 7
(3) 6 4 3
Options :

92090634457. 1
92090634458. 2
92090634459. 3
92090634460. 4

Question Number : 16 Question Id : 9209068719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If [ am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth (4) South
Options :

92090634461. 1
92090634462. 2
92090634463. 3
92090634464. 4

Question Number : 16 Question Id : 9209068719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth {(4) South
Options :

92090634461. 1
92090634462. 2
92090634463. 3
92090634464. 4

Question Number : 16 Question Id : 9209068719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3 North (4) South
Options :

92090634461. 1
92090634462. 2
92090634463. 3
92090634464. 4



Question Number : 17 Question Id : 9209068720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090634465. 1
92090634466. 2
92090634467. 3
92090634468. 4

Question Number : 17 Question Id : 9209068720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090634465. 1
92090634466. 2
92090634467. 3
92090634468. 4

Question Number : 17 Question Id : 9209068720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP

Options :



92090634465. 1
92090634466. 2
92090634467. 3
92090634468. 4

Question Number : 18 Question Id : 9209068721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12: 18, 2772

(1) 31 1/2 (2) 4012
(3) 31 (4) 40
Options :

92090634469. 1
92090634470. 2
92090634471. 3
92090634472. 4

Question Number : 18 Question Id : 9209068721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3. 8,
12; 18,2772

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090634469. 1
92090634470. 2
92090634471. 3
92090634472. 4

Question Number : 18 Question Id : 9209068721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12. 18, 277

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090634469. 1
92090634470. 2
92090634471. 3
92090634472. 4

Question Number : 19 Question Id : 9209068722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Unele (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090634473. 1
92090634474. 2
92090634475. 3
92090634476. 4

Question Number : 19 Question Id : 9209068722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090634473. 1
92090634474. 2
92090634475. 3
92090634476. 4

Question Number : 19 Question Id : 9209068722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother

(3) Brother-in-law {(4) Cousin

Options :

92090634473. 1
92090634474. 2
92090634475. 3
92090634476. 4

Question Number : 20 Question Id : 9209068723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) :  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3) {A) 15 true but (R) is false

(4) (A) 1s falze but (R) is true

Options :

92090634477. 1
92090634478. 2
92090634479. 3
92090634480. 4



Question Number : 20 Question Id : 9209068723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Asgertion (A):  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 1s false

(4) {A) 1s falze but (R) is true

Options :

92090634477. 1
92090634478. 2
92090634479. 3
92090634480. 4

Question Number : 20 Question Id : 9209068723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The common value of all religion should be taught to the children in our

schools,

Reasons (R) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below ;

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 15 true but (R) 1s false

{4) {A) 15 false but (R) 1s true

Options :

92090634477. 1
92090634478. 2
92090634479. 3
92090634480. 4

Question Number : 21 Question Id : 9209068724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 1T :

List I List 1T
(Institute) (Location)
(A} National Institute of Ayurveda (' Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{() MNational Institute of Unani Medicine (III}) Kolkata
{D) National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A0, (B)-(ID), (O)-(I1D), (D)-(IV)
(2 (A, (B)-(ID), (C)-(ID), (D)-(IV)
(3 (L-IV), (B)-(11D), (C)-(11), (D)-(T)
@ (A-V), (B)-(ID), (C)-(III), (D)-(T)

Options :



92090634481. 1
92090634482. 2
92090634483. 3
92090634484. 4

Question Number : 21 Question Id : 9209068724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last I1 :

List 1 List I1
(Institute) (Location)
(A) National Institute of Ayurveda Il Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{C) MNational Institute of Unani Medicine (11T} Kolkata
(D) MNational Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1I), (C)-(11I), (D)-(IV})
(2) (A)-(T), (B)-(II), (C)-(1T), (D)-(IV})
(3) {A)-(TV), (B)-(11D), (C)-(IT), (D)-(T)
(4} {A)-(IV), (B)-(IT), (C)-(I1T), (D)-(T)

Options :

92090634481. 1
92090634482. 2
92090634483. 3
92090634484. 4

Question Number : 21 Question Id : 9209068724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last T with Last 1T -

List [ List 1T
(Institute) (Location)
(A) National Institute of Ayurveda {I. 'Chennai

(B} National Institute of Homoeopathy (Il) Bengaluru
{C) National Institute of Unani Medicine (III) Kolkata
(I National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(IT), (C)-(LLI), (D)-(IV)
(2) (A)-(1), (B)-(I1L), (C)-(1I), (D)-(IV)
(3) (A)-(IV), (B)-(LLT), (C)-(IT), (D)-(1)
1) (A)-(IV), (B)-(II), (C)~(I1T), (D)-(D)

Options :

92090634481. 1
92090634482. 2
92090634483. 3
92090634484. 4

Question Number : 22 Question Id : 9209068725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement I are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement [ is false

{4) Statement I is false but Statement I 15 true

Options :

92090634485. 1
92090634486. 2
92090634487. 3



92090634488. 4

Question Number : 22 Question Id : 9209068725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement I is false

(4) Statement [ is false but Statement I1 1s true

Options :

92090634485. 1
92090634486. 2
92090634487. 3
92090634488. 4

Question Number : 22 Question Id : 9209068725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

Institutions.

Statement 11 : Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I is false

{4) Statement 1 is false but Statement 11 15 true

Options :

92090634485. 1
92090634486. 2
92090634487. 3
92090634488. 4

Question Number : 23 Question Id : 9209068726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1+ June, 1918 (2) 13* April, 1919
(3) 14t April, 1920 (4) 6% July, 1921

Options :

92090634489. 1
92090634490. 2
92090634491. 3
92090634492. 4

Question Number : 23 Question Id : 9209068726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1#t June, 1918 (2) 13 April, 1919
(3) 14tk April, 1920 (4) 6% July, 1921
Options :

92090634489. 1
92090634490. 2
92090634491. 3
92090634492. 4

Question Number : 23 Question Id : 9209068726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1 June, 1918 (2) 13® April, 1919
(3) 14t April, 1920 (4) 6% July, 1921
Options :

92090634489. 1
92090634490. 2
92090634491. 3
92090634492 4

Question Number : 24 Question Id : 9209068727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) {A), (C) and (D) only

Options :



92090634493. 1
92090634494. 2
92090634495. 3
92090634496. 4

Question Number : 24 Question Id : 9209068727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
(C) Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given helow :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) (A), (C) and (D) only

Options :

92090634493. 1
92090634494. 2
92090634495. 3
92090634496. 4

Question Number : 24 Question Id : 9209068727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(1) {A), (C) and (D) only

Options :

92090634493. 1
92090634494. 2
92090634495. 3
92090634496. 4

Question Number : 25 Question Id : 9209068728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634497. 1
92090634498. 2
92090634499. 3
92090634500. 4

Question Number : 25 Question Id : 9209068728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634497. 1



92090634498. 2
92090634499. 3
92090634500. 4

Question Number : 25 Question Id : 9209068728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634497. 1
92090634498. 2
92090634499. 3
92090634500. 4

Part B: Marathi

Section Id : 920906174
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 63
Number of Questions to be attempted : 63

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906279
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209068729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il arl-i
iG] Hd &dl
(A) | TS UTUaTaR B AT o | (1) | fag@am
&1 71 TraAITE WesTen?

(B) | PTea HIdld Arclld faworared | (1) | SARS

(C) | Haieid Ragay wWer 1| () | 4 F. Plegedr
SfHargAr

(D) | 98 3rHTd Yax Hud $ Hel (IV) | TR0 JReler o
Wreiia yafamyE &RieR 3w Haer

1. (AH(IV): (B)(1): (Cy=(I): (D)

2. (A)y=(IN): (B)=(INN); (C)-(IV): (D)-(1)

3. (A(I; (B)H(IV): (CH(1): (D)=(11)

4. (A)(1); (B)=(I); (CH(IH); (DI(IV)

Options :

92090634501. 1
92090634502. 2
92090634503. 3
92090634504. 4

Question Number : 26 Question Id : 9209068729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il arl-i
iG] Hd &dl
(A) | TS UTUaTaR B AT o | (1) | fag@am
&1 71 TraAITE WesTen?

(B) | PTea HIdld Arclld faworared | (1) | SARS

(C) | Haieid Ragay wWer 1| () | 4 F. Plegedr
SfHargAr

(D) | 98 3rHTd Yax Hud $ Hel (IV) | TR0 JReler o
Wreiia yafamyE &RieR 3w Haer

1. (AH(IV): (B)(1): (Cy=(I): (D)

2. (A)y=(IN): (B)=(INN); (C)-(IV): (D)-(1)

3. (A(I; (B)H(IV): (CH(1): (D)=(11)

4. (A)(1); (B)=(I); (CH(IH); (DI(IV)

Options :

92090634501. 1
92090634502. 2
92090634503. 3
92090634504. 4

Question Number : 26 Question Id : 9209068729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1| 214
1fid Yd Fdl
(A) | TS UTUaTaR B AT o | (1) | fag@am
&1 71 TraAITE WesTen?

(B) | PTea HIdld Arclld faworared | (1) | SARS

(C) | Haieid Ragay wWer 1| () | 4 F. Plegedr
SfHargAr

(D) | 98 3r¥Td Y U= &1 Hel (IV) | TR0 JReler o
Wreiia yafamyE &RieR 3w Haer
1. (AHIV); (B)(1): (C)=(1): (D)=(1)

2. (A)(Il): (B)=(lHl); (C)-(IV); (D)~()
3. (A (BHIV): (CH-(1): (D)=(ll)
4. (AY-(); (B)={I1): (C}-(I); (D)~(V)
Options :

92090634501. 1
92090634502. 2
92090634503. 3
92090634504. 4

Question Number : 27 Question Id : 9209068730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BB HINT Hied YRR fduid! Hreas] HIord?

1. TamEE

2. HIZ T e

3.  Usgdall

4. SO 15
Options :

92090634505. 1



92090634506. 2
92090634507. 3
92090634508. 4

Question Number : 27 Question Id : 9209068730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BB HINT Hied YRR fduid! Hreas] HIord?

1. TamRl

2. HIZ T e

3.  Usgdall

4. SO 15
Options :

92090634505. 1
92090634506. 2
92090634507. 3
92090634508. 4

Question Number : 27 Question Id : 9209068730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIdAbIdl HNT Hifed QTEPR fduicl Hréesl SIord?

1. TEEE

2. W T W

3. UsHdat

4. Il Mg
Options :

92090634505. 1
92090634506. 2
92090634507. 3
92090634508. 4

Question Number : 28 Question Id : 9209068731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

LR IRCNE R BIER CRICEALGE
1. TR @GR FeT)
2. HIASI (PD)
3. SRUNS! (UEW)
4. 3UTE (HERTP)
Options :

92090634509. 1
92090634510. 2
92090634511. 3
92090634512. 4

Question Number : 28 Question Id : 9209068731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hd ot gidREr e Yo TMd HIvd?
1. TR (GWR W)
2. ISl (D)
3. SRUYMS! (UEW)
4. 3 (HERTY)
Options :

92090634509. 1
92090634510. 2
92090634511. 3
92090634512. 4

Question Number : 28 Question Id : 9209068731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ha ot PHIrard gie ges Md Hivra?
1. TEIR (G U

2. el (D)

3. 3RUNE! (UEIR)

4. 3YE (HERTY)
Options :

92090634509. 1
92090634510. 2
92090634511. 3
92090634512. 4

Question Number : 29 Question Id : 9209068732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Jaier Oid Hes 719 HI0d?
1. 3YTE (HERTY)
2. UeQX (HERTY)
3. dFErEl (@)

4. IR (SR USH)

Options :

92090634513. 1
92090634514. 2
92090634515. 3
92090634516. 4

Question Number : 29 Question Id : 9209068732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G gadiar gid Hes 7 HIvKd?

1. 3{TUTE (HERTY)
2. UR (HERIY)
3. dFErE! (@A)

4. AR (S US)

Options :

92090634513. 1
92090634514. 2
92090634515. 3
92090634516. 4

Question Number : 29 Question Id : 9209068732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Jaier Oid Hes 719 HI0d?
1. 3YTE (HERTY)
2. UeQX (HERTY)
3. dFErEl (@)

4. IR (SR USH)

Options :

92090634513. 1
92090634514. 2
92090634515. 3
92090634516. 4

Question Number : 30 Question Id : 9209068733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 9w ufsd

2. TH G

3. HRMUd

4, AW
Options :

92090634517. 1
92090634518. 2
92090634519. 3
92090634520. 4

Question Number : 30 Question Id : 9209068733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS WMER &l A1d fergT.
1. 9w ufsd
2. e Gt
3. WRMA
4, AW
Options :

92090634517. 1
92090634518. 2
92090634519. 3
92090634520. 4

Question Number : 30 Question Id : 9209068733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS WTER Pt g e

1. 9w ufsd

2. TH G

3. HRMUd

4, AW
Options :

92090634517. 1
92090634518. 2
92090634519. 3
92090634520. 4

Question Number : 31 Question Id : 9209068734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grdt | ardl 11 SR Fekdl

mgKdiie a9y a|
ardi- rai-i
(A) | 50 RIPR U BIGaIdR (1) | dfea AereawRet Sieft
S{UUTIHTS, WIS Gl Braa
(B) | ity @ dEd (1) | wfea
(C) | WRdig Tepcl B Hure | (Il) | Hd gebsiel HeR
(D) | TRy 1 JU dad (IV) | gTe Gl
Erelid gAYy SRR I [asT

1. (A B)=(): (CI(IV): (D)=(II)
2. (AN(I); (B)=(1I1); (C}(1); (D)~(1V)
3. (A(); (B)-(I); (C)-(); (D)-(IV)
4. (A-(V); B)=(I): (C)=(I1): (D)~(1)

Options :
92090634521. 1
92090634522. 2



92090634523. 3
92090634524. 4

Question Number : 31 Question Id : 9209068734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gret | ardl 11 SR ekl

TRIdIdie f[agw 9"
ardi- RG]
(A) | 5T YTEPR U BIGERIBR (1) | df$d Herdad! St
S{UUMHTS, WIS Gl draa
(B) | Uity @ dEd (1) | i
(C) | HRdY TPl PR AUIGE | () | T PSSl HERTS
(D) | et o T draw (IV) | HeTel Hd
Grefia yafaAyA RiaR I FasT :

=

(A)-(I1); (B)-1): (C)-(IV); (D)-(1)
2. (A(II); (B)(III); (CH-(1); (D)~(IV)
3. (A)(): (B)(II): (C~(I); (D)~(IV)
4. (A(IV); (B)=(IN); (C)(I1); (D))

Options :

92090634521. 1
92090634522. 2
92090634523. 3
92090634524. 4

Question Number : 31 Question Id : 9209068734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | ardl 11 SR ekl

TRIdIdie f[agw 9"
grdi-| il
(A) | 5T YTEPR U BIGERIBR (1) | df$d Herdad! St
S{UUMHTS, WIS Gl draa
(B) | Uity @ dEd (1) | i
(C) | HRdY TPl PR AUIGE | () | T PSSl HERTS
(D) | et o T draw (IV) | HeTel Hd
Grefia yafaAyA RiaR I FasT :

1. (AI); B)1): (CHIV); D))
2. (AR(I); (B=(lll); (C}-(); (D)~(IV)
3. (AM(1): (B)=(11); (Cy=(l1); (D)y=(IV)
4. (AH(IV); (BY=(11); (C)=(11); (D)D)

Options :

92090634521. 1
92090634522. 2
92090634523. 3
92090634524. 4

Question Number : 32 Question Id : 9209068735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 1| SR ekl

qrei-1 i
eIquy 19 &dl, afefdes
(A) | difgaarct (1) | \rud Tad geae
(B) | Ared feraA (1) | TgATY HeTaah
(C) | TgATy ufsa (1) | TraTes & <RrgE
(D) | grEdd (IV) | <rardd feifer S2mis
Qreitd wafmYT sRIsR I FasT -

1. (A); (B)=(I); (C)=(Il1); (D}(IV)
(A)=(11): (B)=(IV); (C)=(1); (D)(1)
(A)=(I); (B)~(1); (C)=(I1); (D)~(IV)
(A)=(IV); (B)=(lIT); (C)-(11); (D)}1)

S

Options :

92090634525. 1
92090634526. 2
92090634527. 3
92090634528. 4

Question Number : 32 Question Id : 9209068735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 1| SR ekl

qrei-1 i
eIquy 19 &dl, afefdes
(A) | difgaarct (1) | \rud Tad geae
(B) | Ared feraA (1) | TgATY HeTaah
(C) | TgATy ufsa (1) | TraTes & <RrgE
(D) | grEdd (IV) | <rardd feifer S2mis
Qreitd wafmYT sRIsR I FasT -

1. (A); (B)=(I); (C)=(Il1); (D}(IV)
(A)=(11): (B)=(IV); (C)=(1); (D)(1)
(A)=(I); (B)~(1); (C)=(I1); (D)~(IV)
(A)=(IV); (B)=(lIT); (C)-(11); (D)}1)

S

Options :

92090634525. 1
92090634526. 2
92090634527. 3
92090634528. 4

Question Number : 32 Question Id : 9209068735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 1| SR ekl

qrei-1 i
eIquy 19 &dl, afefdes
(A) | difgaarct (1) | \rud Tad geae
(B) | Ared feraA (1) | TgATY HeTaah
(C) | TgATy ufsa (1) | TraTes & <RrgE
(D) | grEdd (IV) | <rardd feifer S2mis
Qreitd wafmYT sRIsR I FasT -

1. (A); (B)=(I); (C)=(Il1); (D}(IV)
(A)=(11): (B)=(IV); (C)=(1); (D)(1)
(A)=(I); (B)~(1); (C)=(I1); (D)~(IV)
(A)=(IV); (B)=(lIT); (C)-(11); (D)}1)

S

Options :

92090634525. 1
92090634526. 2
92090634527. 3
92090634528. 4

Question Number : 33 Question Id : 9209068736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SR Fosal

ardi-I RICAST!
BTy ®dl
(A) | wdTer 3foT Gol () | addame
(B) | HaRT&rd () | SmaT Sme
(C) | gurddiftresT () | fawmaEr <
(D) | fareft (IV) | am= dfgd
Grdiid TaraEYyA SRieR I FasT

T (A(I); (B)HI); (CH(V); (D)
2. (AIV); (B)=(I); (C)=(1); (D)1
3. (A)(1): (B)=(IV); (C)=(llt); (D)=(11)
4. (A (B)=(); (C)(IV); (D)H1)

Options :

92090634529. 1
92090634530. 2
92090634531. 3
92090634532. 4

Question Number : 33 Question Id : 9209068736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SR Fosal

ardi-I RICAST!
BTy ®dl
(A) | wdTer 3foT Gol () | addame
(B) | HaRT&rd () | SmaT Sme
(C) | gurddiftresT () | fawmaEr <
(D) | fareft (IV) | am= dfgd
Grdiid TaraEYyA SRieR I FasT

T (A(I); (B)HI); (CH(V); (D)
2. (AIV); (B)=(I); (C)=(1); (D)1
3. (A)(1): (B)=(IV); (C)=(llt); (D)=(11)
4. (A (B)=(); (C)(IV); (D)H1)

Options :

92090634529. 1
92090634530. 2
92090634531. 3
92090634532. 4

Question Number : 33 Question Id : 9209068736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SR Fosal

ardi-I RICAST!
BTy ®dl
(A) | wdTer 3foT Gol () | addame
(B) | HaRT&rd () | SmaT Sme
(C) | gurddiftresT () | fawmaEr <
(D) | fareft (IV) | am= dfgd
Grdiid TaraEYyA SRieR I FasT

T (A(I); (B)HI); (CH(V); (D)
2. (AIV); (B)=(I); (C)=(1); (D)1
3. (A)(1): (B)=(IV); (C)=(llt); (D)=(11)
4. (A (B)=(); (C)(IV); (D)H1)

Options :

92090634529. 1
92090634530. 2
92090634531. 3
92090634532. 4

Question Number : 34 Question Id : 9209068737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i ari-i
&dl HTTIY
(A) | 1. 9. 2Us () | TeCHId e
(B) | TgATY Ufed (1) | ST
(C) | fd. a1 iR () | y=sHics
(D) | O (IV) | 2tz
QIeid gaiyd SRR 3w FasT

1. (A1) (B)=(1); (C)=(I); (D}(IV)

2. (A(IV): B)1): (C)-(I): (D)1Il)
3. (AW-(I); (B)=(IN); (C)(1); (D)-(IV)
4. (A-(); (B)=(11); (C-(V): (D))
Options :

92090634533. 1
92090634534. 2
92090634535. 3
92090634536. 4

Question Number : 34 Question Id : 9209068737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i ari-i
&dl HTTIY
(A) | 1. 9. 2Us () | TeCHId e
(B) | TgATY Ufed (1) | ST
(C) | fd. a1 iR () | y=sHics
(D) | O (IV) | 2tz
QIeid gaiyd SRR 3w FasT

1. (A1) (B)=(1); (C)=(I); (D}(IV)

2. (A(IV): B)1): (C)-(I): (D)1Il)
3. (AW-(I); (B)=(IN); (C)(1); (D)-(IV)
4. (A-(); (B)=(11); (C-(V): (D))
Options :

92090634533. 1
92090634534. 2
92090634535. 3
92090634536. 4

Question Number : 34 Question Id : 9209068737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i ari-i
&dl HTTIY
(A) | 1. 9. 2Us () | TeCHId e
(B) | TgATY Ufed (1) | ST
(C) | fd. a1 iR () | y=sHics
(D) | O (IV) | 2tz
QIeid gaiyd SRR 3w FasT

1. (A1) (B)=(1); (C)=(I); (D}(IV)

2. (A(IV): B)1): (C)-(I): (D)1Il)
3. (AW-(I); (B)=(IN); (C)(1); (D)-(IV)
4. (A-(); (B)=(11); (C-(V): (D))
Options :

92090634533. 1
92090634534. 2
92090634535. 3
92090634536. 4

Question Number : 35 Question Id : 9209068738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | gl 1| SR ot :

HEHHaur 9y it e a9
ari-| rdi-1l
hy A
(A) | HfGyRaUH () |39 1285
(B) | ade () |3 9 1253
(C) | FraTY () | 5.9 1210
(D) | Bfduft wHar (IV) | 3. 9. 1200
@i wafgimyd seR I FasT:

1. (A=) B)=(1); (C)-(1); (D}-(IV)
2. (A-(1); (B}-(IV); (C)-(I); (D)1l
3. (A-(V); B)-(IN); (C)=(I1); (D)~(1)
4. (AR(I); (B)(I); (C)(1); (D(IV)

Options :

92090634537. 1
92090634538. 2
92090634539. 3
92090634540. 4

Question Number : 35 Question Id : 9209068738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | gl 1| SR ot :

HEHHaur 9y it e a9
ari-| rdi-1l
hy A
(A) | HfGyRaUH () |39 1285
(B) | ade () |3 9 1253
(C) | FraTY () | 5.9 1210
(D) | Bfduft wHar (IV) | 3. 9. 1200
@i wafgimyd seR I FasT:

1. (A=) B)=(1); (C)-(1); (D}-(IV)
2. (A-(1); (B}-(IV); (C)-(I); (D)1l
3. (A-(V); B)-(IN); (C)=(I1); (D)~(1)
4. (AR(I); (B)(I); (C)(1); (D(IV)

Options :

92090634537. 1
92090634538. 2
92090634539. 3
92090634540. 4

Question Number : 35 Question Id : 9209068738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | gl 1| SR ot :

HEHHaur 9y it e a9
ari-| rdi-1l
hy A
(A) | HfGyRaUH () |39 1285
(B) | ade () |3 9 1253
(C) | FraTY () | 5.9 1210
(D) | Bfduft wHar (IV) | 3. 9. 1200
@i wafgimyd seR I FasT:

1. (A=) B)=(1); (C)-(1); (D}-(IV)
2. (A-(1); (B}-(IV); (C)-(I); (D)1l
3. (A-(V); B)-(IN); (C)=(I1); (D)~(1)
4. (AR(I); (B)(I); (C)(1); (D(IV)

Options :

92090634537. 1
92090634538. 2
92090634539. 3
92090634540. 4

Question Number : 36 Question Id : 9209068739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | ardl 11 SeR ekl
HeHHauU= 3y Snfor wdi gi=an S Siredr drdl

ardl-| 1G]
Ty ®dl
(A) | uPTERRIY () | @ "R
(B) | GeTslquiq () | &g
(C) | Sfyolt wgar (1) | HREHRYE dRIHR
(D) | Rrgureray (V) | wetes
G gAYy ae) 3 FAasT

1. (A(I); (B)-(IV); (C)-(1); (D))

2. (A-(IV): B)-(lI); (C)-(lI); (D)~(1)
3. (A)-(I); (B)-(IV); (C)-(Il); (D)-(lll)
4. (A(I); (B)): (CH(lI); (D(V)
Options :

92090634541. 1
92090634542. 2
92090634543. 3
92090634544. 4

Question Number : 36 Question Id : 9209068739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | ardl 11 SeR ekl
HeHHauU= 3y Snfor wdi gi=an S Siredr drdl

ardl-| 1G]
Ty ®dl
(A) | uPTERRIY () | @ "R
(B) | GeTslquiq () | &g
(C) | Sfyolt wgar (1) | HREHRYE dRIHR
(D) | Rrgureray (V) | wetes
G gAYy ae) 3 FAasT

1. (A(I); (B)-(IV); (C)-(1); (D))

2. (A-(IV): B)-(lI); (C)-(lI); (D)~(1)
3. (A)-(I); (B)-(IV); (C)-(Il); (D)-(lll)
4. (A(I); (B)): (CH(lI); (D(V)
Options :

92090634541. 1
92090634542. 2
92090634543. 3
92090634544. 4

Question Number : 36 Question Id : 9209068739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gret | ardl 11 SeR ekl
HeHHauU= 3y Snfor wdi gi=an S Siredr drdl

ardl-| 1G]
Ty ®dl
(A) | uPTERRIY () | @ "R
(B) | GeTslquiq () | &g
(C) | Sfyolt wgar (1) | HREHRYE dRIHR
(D) | Rrgureray (V) | wetes
G gAYy ae) 3 FAasT

1. (A(I); (B)-(IV); (C)-(1); (D))

2. (A-(IV): B)-(lI); (C)-(lI); (D)~(1)
3. (A)-(I); (B)-(IV); (C)-(Il); (D)-(lll)
4. (A(I); (B)): (CH(lI); (D(V)
Options :

92090634541. 1
92090634542. 2
92090634543. 3
92090634544. 4

Question Number : 37 Question Id : 9209068740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et | el 11 S10eR Sesdl

AUEIdIe dd &l 3oy Uy
qrdi-I rdt i
Yd ol pil
(A) | e (1) | PR I
(B) | gHRMH (1) | il TWaR
(C) | Ty () | ¥ weils
(D) | ATHed (IV) | AmHed T
Greiid qafamyE SReR 3w FasT

1. (A(l); (B)1); (C)(I); (D)(IV)
2. (A)(Il); (B)-(lHI); (C)(1); (D)-(IV)
3. (A(IV); B)=(lll); (C)~(I); (D)~()

4. (A-(I); BI-(V); (C)(I); (D))

Options :

92090634545. 1
92090634546. 2
92090634547. 3
92090634548. 4

Question Number : 37 Question Id : 9209068740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et | el 11 S10eR Sesdl

AUEIdIe dd &l 3oy Uy
qrdi-I rdt i
Yd ol pil
(A) | e (1) | PR I
(B) | gHRMH (1) | il TWaR
(C) | Ty () | ¥ weils
(D) | ATHed (IV) | AmHed T
Greiid qafamyE SReR 3w FasT

1. (A(l); (B)1); (C)(I); (D)(IV)
2. (A)(Il); (B)-(lHI); (C)(1); (D)-(IV)
3. (A(IV); B)=(lll); (C)~(I); (D)~()

4. (A-(I); BI-(V); (C)(I); (D))

Options :

92090634545. 1
92090634546. 2
92090634547. 3
92090634548. 4

Question Number : 37 Question Id : 9209068740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et | el 11 S10eR Sesdl

AUEIdIe dd &l 3oy Uy
qrdi-I rdt i
Yd ol pil
(A) | e (1) | PR I
(B) | gHRMH (1) | il TWaR
(C) | Ty () | ¥ weils
(D) | ATHed (IV) | AmHed T
Greiid qafamyE SReR 3w FasT

1. (A(l); (B)1); (C)(I); (D)(IV)
2. (A)(Il); (B)-(lHI); (C)(1); (D)-(IV)
3. (A(IV); B)=(lll); (C)~(I); (D)~()

4. (A-(I); BI-(V); (C)(I); (D))

Options :

92090634545. 1
92090634546. 2
92090634547. 3
92090634548. 4

Question Number : 38 Question Id : 9209068741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SRR et

grdi-| -1l
T Hd ®dl
(A) | AITHEE Tl (1) | IFR
(B) | HHUMYSH () |THy
(C) | anTed urast (1) | IHEE
(D) | Hraref I (IV) | 9mcd
Qe wafaimy sRisR 3 HasT

1. (A)(1); (B)(I); (C)(I); (D)}(IV)
2. (A (BY=(I1); (CH(IV); (DD
3. (A-(V): B)-(II); (C)~(1); (D))

4. (A-(); (B)=(I); (C)-(IV): (D)~(1)

Options :

92090634549. 1
92090634550. 2
92090634551. 3
92090634552. 4

Question Number : 38 Question Id : 9209068741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SRR et

grdi-| -1l
T Hd ®dl
(A) | AITHEE Tl (1) | IFR
(B) | HHUMYSH () |THy
(C) | anTed urast (1) | IHEE
(D) | Hraref I (IV) | 9mcd
Qe wafaimy sRisR 3 HasT

1. (A)(1); (B)(I); (C)(I); (D)}(IV)
2. (A (BY=(I1); (CH(IV); (DD
3. (A-(V): B)-(II); (C)~(1); (D))

4. (A-(); (B)=(I); (C)-(IV): (D)~(1)

Options :

92090634549. 1
92090634550. 2
92090634551. 3
92090634552. 4

Question Number : 38 Question Id : 9209068741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | ardl 11 SRR et

grdi-| -1l
My Hd ®dl
(A) | AH&E YT (1) | IFR
(B) | HHUMYSH () |THy
(C) | anTed urast (1) | IHEE
(D) | Hraref I (IV) | 9mcd
Qe wafaimy sRisR 3 HasT

1. (A-(); B)(I); (CH-(ll); (D}-(IV)
2. (A)(Il); B)-(lIt); (C)-(IV); (D))
3. (A)-(IV): (B)(Il); (C)=(1): (D)~(ll)

4. (A-(); (B)=(I); (C)-(IV): (D)~(1)

Options :

92090634549. 1
92090634550. 2
92090634551. 3
92090634552. 4

Question Number : 39 Question Id : 9209068742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mIdldia uitg dfgd &dl amA dfsa gi-t fefgcren dy Homan

1. Tdlhdg A/

2. aury difte

3. 49Rm ey

4, TaEddEmd
Options :

92090634553. 1
92090634554. 2
92090634555. 3
92090634556. 4



Question Number : 39 Question Id : 9209068742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WRIBdia Uiig ufgd &dl ameq ufsa gt fefgcran gy SiomEn?

1. Ydldhds AR

2. gy it

3. 4R faeg

4. Tactamd
Options :

92090634553. 1
92090634554. 2
92090634555. 3
92090634556. 4

Question Number : 39 Question Id : 9209068742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mIdldia uitg dfgd &dl amA dfsa gi-t fefgcren dy Homan

1. Tdlhdg A/

2. aury difte

3. 49Rm ey

4, Tadiamd
Options :

92090634553. 1
92090634554. 2
92090634555. 3
92090634556. 4

Question Number : 40 Question Id : 9209068743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRISIde Ufed dl HRIGT gi=n 4y Hordr?

A SHpgell, pwl faey

B. Uiaraday, Haosdl

C. AR IHMY, AR HgTHRd

D. TSigHIE, FeeHddl WdaR

E. sitfasy, dRmfasy

Qe yaiiEyE sRieR 3R Hdser:
1. W& B AMUID SR
2. Wad C AMUID sRER
3. Wdd B 3MUE SRR
4. T A 30T C SR

Options :

92090634557. 1
92090634558. 2
92090634559. 3
92090634560. 4

Question Number : 40 Question Id : 9209068743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRISIde Ufed dl HRIGT gi=n 4y Hordr?

A SHpgell, pwl faey

B. Uiaraday, Haosdl

C. AR IHMY, AR HgTHRd

D. TSigHIE, FeeHddl WdaR

E. sitfasy, dRmfasy

Qe yaiiEyE sRieR 3R Hdser:
1. W& B AMUID SR
2. Wad C AMUID sRER
3. Wdd B 3MUE SRR
4. T A 30T C SR

Options :

92090634557. 1
92090634558. 2
92090634559. 3
92090634560. 4

Question Number : 40 Question Id : 9209068743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRISIde Ufed dl HRIGT gi=n 4y Hordr?

A SHpgell, pwl faey

B. Uiaraday, Haosdl

C. AR IHMY, AR HgTHRd

D. TSigHIE, FeeHddl WdaR

E. sitfasy, dRmfasy

Qe yaiiEyE sRieR 3R Hdser:
1. W& B AMUID SR
2. Wad C AMUID sRER
3. Wdd B 3MUE SRR
4. T A 30T C SR

Options :

92090634557. 1
92090634558. 2
92090634559. 3
92090634560. 4

Question Number : 41 Question Id : 9209068744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T e SRY &g ST 3H1e?
1. HRAY E%fd
2. Ydrdt Rieau
3. Wradd Rigor
4. UfdeTRye famr
Options :

92090634561. 1
92090634562. 2
92090634563. 3



92090634564. 4

Question Number : 41 Question Id : 9209068744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T fRafr Y <1 HIUId 3MTg?
1. HRAY §%fd
2. Ydrdt Rieau
3.  Waddl Rigor
4. Ufceies fRremor
Options :

92090634561. 1
92090634562. 2
92090634563. 3
92090634564. 4

Question Number : 41 Question Id : 9209068744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T R WY &g I 3H1e?
1. HRAY E%fd
2. Ydrdt Rieau
3. Wradd Rigor
4. UfdeTRye famr
Options :

92090634561. 1
92090634562. 2
92090634563. 3
92090634564. 4

Question Number : 42 Question Id : 9209068745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

grdl | ardl 1 SR ek

i i1
fd, Wigfde GILIEIG
(A) | 1. o HEHR (1) | el vied
(B) | 7. [&I. e () | et
(C) | FEFR AN TN () |pis Ro®
(D) | TRTv I feeEE (IV) | wnfgesame
Wreiid JaiaiHyE SRl I [der

1. (A1) B)-(IV): (C){I): (D)=(1l)

2. (A(); (B)=(IV): (C)-(llt); (D)~(ll)
3. (A-(V): (B)=(I): (C)~(1); (D)=(lll)
4. (A)Y=(I); (BY(1); (Cy=(11); (D(IV)
Options :

92090634565. 1
92090634566. 2
92090634567. 3
92090634568. 4

Question Number : 42 Question Id : 9209068745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



aret | ardl 11 §RIeR Sosdl

- gl
ofd, wifefd®s GILIE G
(A) | =1 °f HEHR (1) | Ster Ted
(B) | 7. 1. @R (1) | et
(C) | HIEFR AR TR () |YpiE foos
(D) | AR aFF e (IV) | arfgesare
Qeid wafiAYyd SR SR FasT :

1. (AR (B(IV); (CH(1); (D)y(1)

2. (A1) (BYIV): (C-(IN); (D))

3. (A-(V): B)=(I): (C)=(1); (D)=(1)

4. (AR(I); (BYD: (Cy(I1); (D(IV)
Options :

92090634565. 1
92090634566. 2
92090634567. 3
92090634568. 4

Question Number : 42 Question Id : 9209068745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



aret | ardl 11 §RIeR Sosdl

- gl
ofd, wifefd®s GILIE G
(A) | =1 °f HEHR (1) | Ster Ted
(B) | 7. 1. @R (1) | et
(C) | HIEFR AR TR () |YpiE foos
(D) | AR aFF e (IV) | arfgesare
Qeid wafiAYyd SR SR FasT :

1. (AR (B(IV); (CH(1); (D)y(1)

2. (A1) (BYIV): (C-(IN); (D))

3. (A-(V): B)=(I): (C)=(1); (D)=(1)

4. (AR(I); (BYD: (Cy(I1); (D(IV)
Options :

92090634565. 1
92090634566. 2
92090634567. 3
92090634568. 4

Question Number : 43 Question Id : 9209068746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feqoft ferfearr Biurdt Bresell Sdell Sid?
A. U@ U DIBuiydd arad ad
B. JUlRYd Hcld UY dRBIs- GG Had Srard
c. feuviifia v diers, faay s
D. PAiad UfasT IRGuIRT |iw, 99 Sfor Tqferd Hre
E. feuvlidia arauwan wdiy anfor farjdi=n srrd
Arelid gaiiEy sRieR 3w [dsr:

1. A 3ffUIC SR

2. A, B 3fID R

3. C,D 3MUTE SR

4. B,C 3MUID SR

Options :

92090634569. 1
92090634570. 2
92090634571. 3
92090634572. 4

Question Number : 43 Question Id : 9209068746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feqoft ferfearr Biurdt Bresell Sdell Sid?
A. U@ U DIBuiydd arad ad
B. JUlRYd Hcld UY dRBIs- GG Had Srard
c. feuviifia v diers, faay s
D. PAiad UfasT IRGuIRT |iw, 99 Sfor Tqferd Hre
E. feuvlidia arauwan wdiy anfor farjdi=n srrd
Arelid gaiiEy sRieR 3w [dsr:

1. A 3ffUIC SR

2. A, B 3fID R

3. C,D 3MUTE SR

4. B,C 3MUID SR

Options :

92090634569. 1
92090634570. 2
92090634571. 3
92090634572. 4

Question Number : 43 Question Id : 9209068746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feqoft ferfearr Biurdt Bresell Sdell Sid?
A. U@ U DIBuiydd arad ad
B. JUlRYd Hcld UY dRBIs- GG Had Srard
c. feuviifia v diers, faay s
D. PAiad UfasT IRGuIRT |iw, 99 Sfor Tqferd Hre
E. feuvlidia arauwan wdiy anfor farjdi=n srrd
Arelid gaiiEy sRieR 3w [dsr:

1. A 3ffUIC SR

2. A, B 3fID R

3. C,D 3MUTE SR

4. B,C 3MUID SR

Options :

92090634569. 1
92090634570. 2
92090634571. 3
92090634572. 4

Question Number : 44 Question Id : 9209068747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



< YA Y a1 fiesdl

A Tl srE-afSar s ureTdl

B. UTGHTIeHId HIGiUTel W& fAesdl

C. gaurd dsd gH-dA foau i g5
D. 3PN A HFANIS Hedl AT el

Ardid TaiiayA slier 3w Fdsr
1. T™dd A
2. TdB
3. & C
4. WD
Options :

92090634573. 1
92090634574. 2
92090634575. 3
92090634576. 4

Question Number : 44 Question Id : 9209068747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



< YA Y a1 fiesdl

A Tl srE-afSar s ureTdl

B. UTGHTIeHId HIGiUTel W& fAesdl

C. gaurd dsd gH-dA foau i g5
D. 3PN A HFANIS Hedl AT el

Ardid TaiiayA slier 3w Fdsr
1. T™dd A
2. TdB
3. & C
4. WD
Options :

92090634573. 1
92090634574. 2
92090634575. 3
92090634576. 4

Question Number : 44 Question Id : 9209068747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



< YA Y a1 fiesdl

A Tl srE-afSar s ureTdl

B. UTGHTIeHId HIGiUTel W& fAesdl

C. gaurd dsd gH-dA foau i g5
D. 3PN A HFANIS Hedl AT el

Ardid TaiiayA slier 3w Fdsr
1. T™dd A
2. TdB
3. & C
4. WD
Options :

92090634573. 1
92090634574. 2
92090634575. 3
92090634576. 4

Question Number : 45 Question Id : 9209068748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ardi-I rat i
(A) | 3reqdivra THI (1) | meigivd
(B) | U=l daey A (1) | ArFEA
(C) | HeEHuEE wH Y () | fead faaw
(D) | Sgdie! wa (IV) | ArEHTd
Qreiid Ty SRR S FasT -

1. (AR (BY=(IV): (C)=(1); (D))

2. (A-(V); (B)(1): (C)-(llt); (D)=(ll
3. (A(lIl); B)1); (CHHIV); @)~(II)
4. (AR(lIl); B)(1); (C)II); (D)=(IV)
Options :

92090634577. 1
92090634578. 2
92090634579. 3
92090634580. 4

Question Number : 45 Question Id : 9209068748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ardi-I rat i
(A) | 3reqdivra THI (1) | meigivd
(B) | U=l daey A (1) | ArFEA
(C) | HeEHuEE wH Y () | fead faaw
(D) | Sgdie! wa (IV) | ArEHTd
Qreiid Ty SRR S FasT -

1. (AR (BY=(IV): (C)=(1); (D))

2. (A-(V); (B)(1): (C)-(llt); (D)=(ll
3. (A(lIl); B)1); (CHHIV); @)~(II)
4. (AR(lIl); B)(1); (C)II); (D)=(IV)
Options :

92090634577. 1
92090634578. 2
92090634579. 3
92090634580. 4

Question Number : 45 Question Id : 9209068748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ardi-I rat i
(A) | 3reqdivra THI (1) | meigivd
(B) | U=l TN HHI () | AFeA
(C) | AeAwUCa! THH () | fea¥ fGaa
(D) | ggdiet A (IV) | ArEHTd
Qreiid wafmyE SRR 3w FasT

1. (A BI(IV); (CH(I); (D)=(1)

2. (A(IV); (B)=(1): (C)=(lIt); (D)=(lI
3. (A(I); (B)1); (CI-(IV); (D)~(I)
4. (AR(lIl); B)(1); (C)II); (D)=(IV)
Options :

92090634577. 1
92090634578. 2
92090634579. 3
92090634580. 4

Question Number : 46 Question Id : 9209068749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. GAFSE O SMid, SRIETS A 810l .
2. YFYSS Afcidd Uldd gisl e,
3. O g |ieY S9drd did | T HINe HiR J SR 3.
4. 8% e T8 e wiae v oI,
Options :
92090634581 1
92090634582. 2

92090634583. 3
92090634584. 4



Question Number : 46 Question Id : 9209068749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. GAFSH dd SMvid, ARIETS A 8Tvi AT,
2. 4HFYEs Afidd Uad gl W,
3. Y g |ieY S9drd did | T HINe iR J SR 3.
4. 3% e M8 (e Saq Ul 3.
Options :
92090634581. 1
92090634582. 2

92090634583. 3
92090634584. 4

Question Number : 46 Question Id : 9209068749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. gfed dd SMUid, ARIETS Y 2Tl Sma.
2. HHFYE Afidhd UIad glg-l i,
3. JY A digY S9drd ol | DT HIN0 AR  FRE 8.
4. T8g e 8T (e Sag UL 319,
Options :
92090634581. 1
92090634582. 2

92090634583. 3
92090634584. 4

Question Number : 47 Question Id : 9209068750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HE HHSTARE Yo 318" T dITdid SYH SV o 3flS@Er?

1. g

2. HHS

3. ;R

4. D! UhEl TRl
Options :

92090634585. 1
92090634586. 2
92090634587. 3
92090634588. 4

Question Number : 47 Question Id : 9209068750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W HHBERE Yo 318" T1 dITdid SYHA B0 o @

1. ¥

2. S

3. ¥R

4. UM Ubel ARl
Options :

92090634585. 1
92090634586. 2
92090634587. 3
92090634588. 4

Question Number : 47 Question Id : 9209068750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HE HHSTARE Yo 318" T dITdid SYH SV o 3flS@Er?

R

2. HHS

3. ¥R

4. D! UhEl TRl
Options :

92090634585. 1
92090634586. 2
92090634587. 3
92090634588. 4

Question Number : 48 Question Id : 9209068751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grdl | ardl 1| SR el

-1 a1l
(A) | 11 MY AT SR YS! (1) | foramug
(B) | aTa, el SMTETal &HT &1 (Il) | Hamard framug

(C) | df 3frg Hdl (1) | s
(D) | 3 Hell AT AR Al A9 | (IV) | [deed
EIGIELRI
WTlid TaraEyA SRiaR I FasT

—_

(A)(1); (B)(I1); (C)=(Il); (D)}-(1V)
2. (A)=(IV): (B)=(Ill); (C)-(l1); (D)=(1)
3. (A, (B)(IV); (C)=(II); (D)~(1)
4. (A-(V); B)=(II); (C)1): (D)}-()

Options :

92090634589. 1
92090634590. 2
92090634591. 3



92090634592. 4

Question Number : 48 Question Id : 9209068751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grdt | gl 1 SR ek

il )
(A) | a1 YU el SR STl (1) | = fopamg
(B) | ST, TFET STRETRTT &FAT B (1) | dpard foramg

(C) | ot 3y Hdl () | sz
(D) | 3nam Hal A aR ar M | (V) | e
EIRIENGI
Wi Ay sRiew I Hdel

1. (A1) (B)); (C)(II); (D)-(IV)

2. (A-(V); (B)=(lll); (C)=(II); (D)~(1)
3. (A, (B)(IV); (C)=(II); (D))
4. (A(IV); (B)=(Il); (C)=(1): (D)-=(I)
Options :

92090634589. 1
92090634590. 2
92090634591. 3
92090634592. 4

Question Number : 48 Question Id : 9209068751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | e 1 SR Gl

it 2| ]
(A) | 11 39U I 3R STl (1) |y foramae
(B) | STal, Trel SMVTC &HT B () | desary febamag

(C) | A 3 B! () | s
(D) | 3nam Ha A AR ar A | (V) | e
EIGIE RG]
WTild gy SRiER IR Fasr

1. (A(): (BI); (C)=(II); (D)~(1IV)
2. (A-(V); (B)=(Il); (C)-(lI); (D)~()
3. (A B)~(IV): (C)-(I); (D)~{)
4. (A-(V); (B)(I); (C)~(1); (D))

Options :

92090634589. 1
92090634590. 2
92090634591. 3
92090634592. 4

Question Number : 49 Question Id : 9209068752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WeTate! HIvrT areard el fobarue sma 3mg?
1. &a1, gaf-r et &q
2. 3T URSY yisal

3. UIEY el a3 "ed SR
4. udierd ge uyH 9f fHesTe

Options :
92090634593. 1
92090634594. 2



92090634595. 3
92090634596. 4

Question Number : 49 Question Id : 9209068752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@reitetds! o] dredrd Sl fesarag sfrd sire?
1. &a1, gair gdi &a
2. 3{Idl UTHd Yiddl

3. U el I3 "ed SuRd
4. udied g uyH gf e

Options :

92090634593. 1
92090634594. 2
92090634595. 3
92090634596. 4

Question Number : 49 Question Id : 9209068752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@reitetds! o] dredrd Sl fesarag sfrd sire?
1. &a1, gair gdi &a
2. 3{Idl UTHd Yiddl

3. U el I3 "ed SuRd
4. udied g uyH gf e

Options :

92090634593. 1
92090634594. 2
92090634595. 3
92090634596. 4



Question Number : 50 Question Id : 9209068753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIqcitdrad GEAdRNT sryced] Javrdl Uiy il
1. <IaT HIYl, S8 R0, 381 Hefl, 318 wul
2. diYe 4d, Tyue $93, gedl W, fepfora srq
3. T Ha, STad U, Wra oy, ufger aif
4, 3O F FAHS Heq-T ATUR HTell

Options :

92090634597. 1
92090634598. 2
92090634599. 3
92090634600. 4

Question Number : 50 Question Id : 9209068753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JIg<iiarae HBAfIRN SR ITRrEl uaig sfiesal
1. dial HIST, Hed v, gg1 Heil, 918 vud
2. dYe Hd, TyUe $UT, gl W, fEpfora snie
3. T e, 3MTad U, WIaT ay, ufgar aif
4, 3O F HedTHeS el AU el

Options :

92090634597. 1
92090634598. 2
92090634599. 3
92090634600. 4

Question Number : 50 Question Id : 9209068753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST GEATAY0 el SOl YO Sl
1. el HTYT, 989 vl g1 geil, 918 $ud
2. e {d, gUUC $UT, gedl W1, fEaivra aiq

3. YT, 1S 34, Arad 9y, gfge ail
4, 3O H ST HedHl ATIR el
Options :

92090634597. 1
92090634598. 2
92090634599. 3
92090634600. 4

Question Number : 51 Question Id : 9209068754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferd fRanR wifer a1 siiBidie fA<NumT=n U R SHivrdr?

1. HHdE® a9

2. 3Hig<itarae fagmor

3. TUEES fagmo

4. TUAERES N
Options :

92090634601. 1
92090634602. 2
92090634603. 3
92090634604. 4

Question Number : 51 Question Id : 9209068754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e feramR wifer ™ a1 Siiidiel fa<imuIr=n YR Hivrar?
1. HHdES fagmor
2. fJaiiaras famo
3. U IR

4. TUFEES fago

Options :

92090634601. 1
92090634602. 2
92090634603. 3
92090634604. 4

Question Number : 51 Question Id : 9209068754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferd fRanR wifer a1 siiBidie fA<NumT=n U R SHivrdr?

1. HHdE® a9

2. 3Hig<itarae fagmor

3. TUEES fagmo

4. TUAERES N
Options :

92090634601. 1
92090634602. 2
92090634603. 3
92090634604. 4

Question Number : 52 Question Id : 9209068755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | ardt 11 SR ol :

qrdl-| grdi-i
"3 e T
(A) | i fRrars e (1) | wsmis
(B) | @101 3112 faip? () | gevarE®
(C) | @rur & Tref () | Fish
(D) | S "ebTehd A He™ | (IV) | aif=fgd

Wit qaiaiay sRiay I HdeT

1. (A (B)=(1): (CH(IV): (D)—(1)
(A-(1); (B)-(I1); (C)=(111); (D)-(1V)
(A)=(I); (B)=(1); (Cy=(IIT); (D}=(IV)
(A)=(I1); (B)(11); (C)=(1); (D)-(1V)

A owoN

Options :

92090634605. 1
92090634606. 2
92090634607. 3
92090634608. 4

Question Number : 52 Question Id : 9209068755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | ardt 11 SR ol :

qrdl-| grdi-i
"3 e T
(A) | i fRrars e (1) | wsmis
(B) | @101 3112 faip? () | gevarE®
(C) | @rur & Tref () | Fish
(D) | S "ebTehd A He™ | (IV) | aif=fgd

Wit qaiaiay sRiay I HdeT

1. (A (B)=(1): (CH(IV): (D)—(1)
(A-(1); (B)-(I1); (C)=(111); (D)-(1V)
(A)=(I); (B)=(1); (Cy=(IIT); (D}=(IV)
(A)=(I1); (B)(11); (C)=(1); (D)-(1V)

A owoN

Options :

92090634605. 1
92090634606. 2
92090634607. 3
92090634608. 4

Question Number : 52 Question Id : 9209068755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | gl 1| SRIER ST

-1 el
3 Te CRI
(A) | 4l Rigf sire (1) | verdes
(B) | wor 318 forepa? () | gevarEs
(C) | Fror &t relf () | e
(D) | ¥ g1 d Fdd HH Td (IV) | aiffae

Wit qaiaiay sRiay I HdeT

1. (A=) (B)=(1): (C)-(1V); (D)(11)
(A-(1); (B)-(I1); (C)=(111); (D)-(1V)
(A)=(I); (B)=(1); (Cy=(IIT); (D}=(IV)
(A)=(I1); (B)(11); (C)=(1); (D)-(1V)

A owoN

Options :

92090634605. 1
92090634606. 2
92090634607. 3
92090634608. 4

Question Number : 53 Question Id : 9209068756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA T S 31 GARHTE §oR gdid
1. gatft gdam
2. fagmo
3. W AaW

4. SHIES GIAH

Options :

92090634609. 1
92090634610. 2
92090634611. 3
92090634612. 4



Question Number : 53 Question Id : 9209068756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA T S 31 GARHIE goR gdid
1. st gdam
2. fagmo
3. WM

4. HHIES TIAH

Options :

92090634609. 1
92090634610. 2
92090634611. 3
92090634612. 4

Question Number : 53 Question Id : 9209068756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Td: ST a1 THRYET goR Jgdid
1. e gdAm
2. fadmo
3. WA

4. HHIED TIH

Options :

92090634609. 1
92090634610. 2
92090634611. 3
92090634612. 4

Question Number : 54 Question Id : 9209068757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YHTUIGEYUT § S0 ATH 3MTe?

1. HMHAAAH

2. fagmo

3.  Hdddd qH

4. UerdrEs A
Options :

92090634613. 1
92090634614. 2
92090634615. 3
92090634616. 4

Question Number : 54 Question Id : 9209068757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YHTOIGYUT § S0 ATH 3MTg?

1. HMHMFAH

2. fa=mo

3. HMEdE® ATH

4. uEdarEE T
Options :

92090634613. 1
92090634614. 2
92090634615. 3
92090634616. 4

Question Number : 54 Question Id : 9209068757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YHTUIGEYUT § S0 ATH 3MTe?

1. HMHAAAH

2. fagmo

3.  Hdddd qH

4. UerdrEs A
Options :

92090634613. 1
92090634614. 2
92090634615. 3
92090634616. 4

Question Number : 55 Question Id : 9209068758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T dIAudTd G 9T 910X SR gldr” I1 dieTd Uid 81 Yeg Il SIdidl 31g?
1. IHarad 3y

2. fagmm

3. gdm

4. HMH
Options :

92090634617. 1
92090634618. 2
92090634619. 3
92090634620. 4

Question Number : 55 Question Id : 9209068758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q=T SevdTd U 97 dT9R R glal” 91 9TeTd Ui o1 Xsg &0l Sldidl 3Tg?

1. JHaradt /ey
2. fa<mo
3. WdIH
4. 4AMH
Options :

92090634617. 1
92090634618. 2
92090634619. 3
92090634620. 4

Question Number : 55 Question Id : 9209068758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T SIvdTd U 97 dT9R BR glal” 91 91eTd Ui o1 Xeg B0l Sldidl 31g?

1. Ivgradl /ey
2. fogm
3. gdm
4, M
Options :

92090634617. 1
92090634618. 2
92090634619. 3
92090634620. 4

Question Number : 56 Question Id : 9209068759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udieiie! Wsf s SHIvrd sga?

1. SH-Hl

2 9]

3. 4R

4. Y
Options :

92090634621. 1
92090634622. 2
92090634623. 3
92090634624. 4

Question Number : 56 Question Id : 9209068759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T o S SHTea?
1. -3l
2. 99
3. I
4 WY
Options :

92090634621. 1
92090634622. 2
92090634623. 3
92090634624. 4

Question Number : 56 Question Id : 9209068759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udieiie! Wsf s SHIvrd sga?

1. -3l

2. 9]

3. X

4. Ty
Options :

92090634621. 1
92090634622. 2
92090634623. 3
92090634624. 4

Question Number : 57 Question Id : 9209068760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@reitede! T faur sl

A HRIET HIND feraror vl SRR ferdid B
B. 3fUcdl disrdre v g w1 gof wgurdrd
C. RIS HNdd 3Yfd quiHTad UHUI 52 901 Sfgd
D. RIS N MY quinTeid THUT 14 TR 3Med

Greiid JaaEyE RisR I Fasr:
1. B Add
2. Badddd
3. I 9 ARl
4. YdTR
Options :

92090634625. 1
92090634626. 2
92090634627. 3
92090634628. 4

Question Number : 57 Question Id : 9209068760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ettt T faur s

A ERIET U feraror sl SRR ferdtd B

B. S{Uedl dierdre Faom=ar 7 -1 auf wgorard
C. RIS Udd 3 quiHTed UHUl 52 9uf Sfigd
D. HRIS! UTSce A quiHTeid THT 14 TR 3HTgd

Wreita qaiaiHeE ke 3 [deT
1. Waddddq
2. BIddD
3. SIUE IR
4. IR
Options :

92090634625. 1
92090634626. 2
92090634627. 3
92090634628. 4

Question Number : 57 Question Id : 9209068760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@reitete! T faem sfiewar

A, FRIST HINT fRrETr Sl SRR ferdid B

B. U disrdre v ga w1 9of wgurdrd
C. TRI3! Uil sfeffe qufATeid ugur 52 aof sfied
D. RIS N MY quirTed THUT 14 TR 3MMed

GTeiid gAYy SRR IR Faar:
1. Wadsdd
2. BIIIP
3. I I Al
4. ¥d RN
Options :

92090634625. 1
92090634626. 2
92090634627. 3
92090634628. 4

Question Number : 58 Question Id : 9209068761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Havi weleyd & fabell ad qui Fredar Yesidrd
1. 7539
2. 2594
3. soay
4. 60T
Options :

92090634629. 1
92090634630. 2
92090634631. 3
92090634632. 4

Question Number : 58 Question Id : 9209068761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Yavi Heid @ fdt v i SR aveard
1. 75a4
2. 25a%
3. soay
L L
Options :

92090634629. 1
92090634630. 2
92090634631. 3
92090634632. 4

Question Number : 58 Question Id : 9209068761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gaul Helwd & et ad gof SreaHar S
1. 7594
2. 2598
3. soay
4. 60ay
Options :

92090634629. 1
92090634630. 2
92090634631. 3
92090634632. 4

Question Number : 59 Question Id : 9209068762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feerea yafas a9= S g
1. SN YR UUA DI "SI
2. i o 9rd ATl derdt ardd
3. A T IS Bidbdl 8, WP W HE WiTdTg

4. I HRAId dYH1d

Options :

92090634633. 1
92090634634. 2
92090634635. 3
92090634636. 4

Question Number : 59 Question Id : 9209068762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feeiear ygfais! a9= S 31
1. Sg YR dUABIHGI
2. SId o 9rd Tl 98t urdd
3. QA A A DS Bibdl ¢, TP 9 4 WiTdTe

4. Y HRA dYH1d

Options :

92090634633. 1
92090634634. 2
92090634635. 3
92090634636. 4

Question Number : 59 Question Id : 9209068762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feerea yafas a9= S g
1. SN YR UUA DI "SI
2. i o 9rd ATl derdt ardd
3. A T IS Bidbdl 8, WP W HE WiTdTg

4. I HRAId dYH1d

Options :

92090634633. 1
92090634634. 2
92090634635. 3
92090634636. 4

Question Number : 60 Question Id : 9209068763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS Ui fefguR o S
1. SIS ST
2. M 8@
3. TEE g adsa
4. Yd gl HERS
Options :

92090634637. 1
92090634638. 2
92090634639. 3
92090634640. 4

Question Number : 60 Question Id : 9209068763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS Ui fefguR draes H1or

1. SIS SiHGY

2. W 33

3. SRl Uigy qEed

4. Ydddsiel HeR
Options :

92090634637. 1
92090634638. 2
92090634639. 3
92090634640. 4

Question Number : 60 Question Id : 9209068763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS Ui fefguR e S
1. SIS SiHGY
2. W 33
3. SRl Uigy qEed
4.  Hd sl HeR
Options :

92090634637. 1
92090634638. 2
92090634639. 3
92090634640. 4

Question Number : 61 Question Id : 9209068764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wrellerdes! HI1 aferd Hdl 3M1g?

1.  XPHWE @d

2. WG e

3. oL H HeaR

4. qUd HISdeH
Options :

92090634641. 1
92090634642. 2
92090634643. 3
92090634644. 4

Question Number : 61 Question Id : 9209068764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

reiieden! HIl Gferd Hd 3M1g?
1.  YHWE W
2. Wifors s
3. L9 "R
4, 9Ud WTSded
Options :

92090634641. 1
92090634642. 2
92090634643. 3
92090634644. 4

Question Number : 61 Question Id : 9209068764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wrellerdes! HI1 aferd Hdl 3M1g?

1.  XPHWE @d

2. WG e

3. oL H HeaR

4. qUd HISdeH
Options :

92090634641. 1
92090634642. 2
92090634643. 3
92090634644. 4

Question Number : 62 Question Id : 9209068765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1958 HTeil Ufged aferd Aifgdr 3gure HIvml g% oa?
1. TUIYER
2. AR™UHd

3. HUUHRS 918
4. W™

Options :

92090634645. 1
92090634646. 2
92090634647. 3
92090634648. 4

Question Number : 62 Question Id : 9209068765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1958 el ufgedn aferd Wifgcra Igure 1Tl g% Ael?
1. SUUER
2. AR™UHd
3. 3UUNHTS; 18
4. SIE

Options :

92090634645. 1
92090634646. 2
92090634647. 3
92090634648. 4

Question Number : 62 Question Id : 9209068765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1958 el ufgen afera it Iguren Some g e
1. SUYER
2. ARM@Ugd
3. 3UUNMTS; 18
4. ICIEE

Options :

92090634645. 1
92090634646. 2
92090634647. 3
92090634648. 4

Question Number : 63 Question Id : 9209068766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AeH SR d e Yi=dl Sisd] ardl
gri-| i1
ACH DR GIGET
(A) | 3. a1 RRaTsH () | Fadl-da=
(B) | 3mard o () | arefiRr e
(C) | facrg dgear () | g1 w2
(D) | Id BEHR (IV) | disf wgurmef! eReter
Grdiid qaiayA ie) 3w [deT

1. (Al (B)=(II); (C(1); (D)(IV)

2. (AW(I); (B)1I); (C)IV); (D)~(II)
3. (A(IV): B)=(1): (C)-(Il): (D)=(1Il)
4. (A1) (BIHIV); (C)=(I); (D)(1IT)
Options :

92090634649. 1
92090634650. 2
92090634651. 3
92090634652. 4

Question Number : 63 Question Id : 9209068766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AeH SR d e Yi=dl Sisd] ardl
gri-| i1
ACH DR GIGET
(A) | 3. a1 RRaTsH () | Fadl-da=
(B) | 3mard o () | arefiRr e
(C) | facrg dgear () | g1 w2
(D) | Id BEHR (IV) | disf wgurmef! eReter
Grdiid qaiayA ie) 3w [deT

1. (Al (B)=(II); (C(1); (D)(IV)

2. (AW(I); (B)1I); (C)IV); (D)~(II)
3. (A(IV): B)=(1): (C)-(Il): (D)=(1Il)
4. (A1) (BIHIV); (C)=(I); (D)(1IT)
Options :

92090634649. 1
92090634650. 2
92090634651. 3
92090634652. 4

Question Number : 63 Question Id : 9209068766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AeH SR d e Yi=dl Sisd] ardl
gri-| i1
ACH DR GIGET
(A) | 3. a1 RRaTsH () | Fadl-da=
(B) | 3mard o () | arefiRr e
(C) | facrg dgear () | g1 w2
(D) | Id BEHR (IV) | disf wgurmef! eReter
Grdiid qaiayA ie) 3w [deT

1. (Al (B)=(II); (C(1); (D)(IV)

2. (AW(I); (B)1I); (C)IV); (D)~(II)
3. (A(IV): B)=(1): (C)-(Il): (D)=(1Il)
4. (A1) (BIHIV); (C)=(I); (D)(1IT)
Options :

92090634649. 1
92090634650. 2
92090634651. 3
92090634652. 4

Question Number : 64 Question Id : 9209068767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | Al 1l SeR et

gl -l
HY[DR Y[

(A) | 3fig dTed () | S TRars!
(B) | AP ATS[BHY Iy | R

(C) | U dgaer () | el

(D) | 4. Pl (V) | g ferear g=m

Gretd TaimyE sE) I [AdeT

(A=(11); (B)=(IV); (C)=(1); (D)(1ll)
(Ay=(I); (B)}(1); (C)~(IV); (D)=(1I)
(A=(1); (B)=(I1); (C)=11); (D)—(IV)
(A(IV); (B)=(ll); (C)=(I); (D)~(1)

L L S

-

Options :

92090634653. 1
92090634654. 2
92090634655. 3
92090634656. 4

Question Number : 64 Question Id : 9209068767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | Al 1l SeR et

gl -l
HY[DR Y[

(A) | 3fig dTed () | S TRars!
(B) | AP ATS[BHY Iy | R

(C) | U dgaer () | el

(D) | 4. Pl (V) | g ferear g=m

Gretd TaimyE sE) I [AdeT

(A=(11); (B)=(IV); (C)=(1); (D)(1ll)
(Ay=(I); (B)}(1); (C)~(IV); (D)=(1I)
(A=(1); (B)=(I1); (C)=11); (D)—(IV)
(A(IV); (B)=(ll); (C)=(I); (D)~(1)

L L S

-

Options :

92090634653. 1
92090634654. 2
92090634655. 3
92090634656. 4

Question Number : 64 Question Id : 9209068767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdt | Al 1l SeR et

gl -l
HY[DR Y[

(A) | 3fig dTed () | S TRars!
(B) | AP ATS[BHY Iy | R

(C) | U dgaer () | el

(D) | 4. Pl (V) | g ferear g=m

Gretd TaimyE sE) I [AdeT

(A=(11); (B)=(IV); (C)=(1); (D)(1ll)
(Ay=(I); (B)}(1); (C)~(IV); (D)=(1I)
(A=(1); (B)=(I1); (C)=11); (D)—(IV)
(A(IV); (B)=(ll); (C)=(I); (D)~(1)

L L S

-

Options :

92090634653. 1
92090634654. 2
92090634655. 3
92090634656. 4

Question Number : 65 Question Id : 9209068768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | el |l SRIeR el :

Tfaret Srdedt 3o erae Ti=ar Site
- | il
NECEd EACER]
(A) | Tr gre=iar (1) | g
(B) | faremy wATER () | TPTHeR
(C) | Ty WIzd (1) | QebT Feferareir= 5
(D) | PUIGHR TR (V) | grgpet
Ardid TaiiayE sle) I Faet

1. (A)(I); (B)=(1); (C(IV); (D)—(1)
(A)=(1); (B)=(Il): (CH=(1); (D)-(IV)

2.
3. (A); (B)=(II); (C)=(lll); (D)~(IV)
4. (A-V); (B)=(Il); (C)-(l1); (D))

Options :

92090634657 1
92090634658. 2
92090634659. 3
92090634660. 4

Question Number : 65 Question Id : 9209068768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | el |l SRIeR el :

Tfaret Srdedt 3o erae Ti=ar Site
- | il
NECEd EACER]
(A) | Tr gre=iar (1) | g
(B) | faremy wATER () | TPTHeR
(C) | Ty WIzd (1) | QebT Feferareir= 5
(D) | PUIGHR TR (V) | grgpet
Ardid TaiiayE sle) I Faet

1. (A)(I); (B)=(1); (C(IV); (D)—(1)
(A)=(1); (B)=(Il): (CH=(1); (D)-(IV)

2.
3. (A); (B)=(II); (C)=(lll); (D)~(IV)
4. (A-V); (B)=(Il); (C)-(l1); (D))

Options :

92090634657 1
92090634658. 2
92090634659. 3
92090634660. 4

Question Number : 65 Question Id : 9209068768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | el |l SRIeR el :

Tfaret Srdedt 3o erae Ti=ar Site
- | il
NECEd EACER]
(A) | Tr gre=iar (1) | g
(B) | faremy wATER () | TPTHeR
(C) | Ty WIzd (1) | QebT Feferareir= 5
(D) | PUIGHR TR (V) | grgpet
Ardid TaiiayE sle) I Faet

1. (A-(I); (B)(I); (C)-(IV); (D))
(A}-(I1); (B)~(1I1); (C)(1); (D)}~(1V)

2
3. (A); (B)=(II); (C)=(lll); (D)~(IV)
4. (A-V); (B)=(Il); (C)-(l1); (D))

Options :

92090634657 1
92090634658. 2
92090634659. 3
92090634660. 4

Question Number : 66 Question Id : 9209068769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IYITHI0T 3(EATH g1 Hlgaid A
1. Tiigdd ded
2. UDI AarEE o
3. ®R®l
4. UgHi
Options :

92090634661. 1



92090634662. 2
92090634663. 3
92090634664. 4

Question Number : 66 Question Id : 9209068769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IuITHT JTEATH Tl HIEard A1d
1. Tisddtcd
2. Ul A&dI=E o H
3. TRl
4. Ugdn
Options :

92090634661. 1
92090634662. 2
92090634663. 3
92090634664. 4

Question Number : 66 Question Id : 9209068769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IITH0N STEATH gi=d] HlEalE A1d
1. Tigadued
2. Ul A== o H
3. ®RaI
4. UgHn
Options :

92090634661. 1
92090634662. 2
92090634663. 3
92090634664. 4



Question Number : 67 Question Id : 9209068770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1975 Hreit Fard] 1™ Sarel Siad’ HFd T T 316 HRI8 A Bl
ICEE RG]

1. I mEr

2. il fedRaR

3. gl mamER

4.  PUNETS HIC
Options :

92090634665. 1
92090634666. 2
92090634667. 3
92090634668. 4

Question Number : 67 Question Id : 9209068770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1975 Hrett wiardl aifgd Sare ardd A Td T a1 WIS A S0l

BIG|

1. Sffaruar

2. il fHdRaR
3. gl mamrE
4. PUNETS HIC

Options :

92090634665. 1
92090634666. 2
92090634667. 3
92090634668. 4

Question Number : 67 Question Id : 9209068770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1975 grett iard g Saren arad HE T TR a1 RIS A S0l

BIG|

1. Sffaruer

2. Xid fbaiepR
3. gl mamre
4.  PUNET Hie

Options :

92090634665. 1
92090634666. 2
92090634667. 3
92090634668. 4

Question Number : 68 Question Id : 9209068771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1986 HTel Ydd ) Hoed g Hesal g Udar?

1L g
2. W
3. digds
4.
Options :

92090634669. 1
92090634670. 2
92090634671. 3
92090634672. 4

Question Number : 68 Question Id : 9209068771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1986 Tl Ydd HHe- Radi=n He51al HId gdar?

1L g
2. dielt
3. diqds
4. Y
Options :

92090634669. 1
92090634670. 2
92090634671. 3
92090634672. 4

Question Number : 68 Question Id : 9209068771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1986 Tl Ydd HHe-+ [aaen AeTal $Is Udar?

(N

2. WiTelt

3. digds

4 Had
Options :

92090634669. 1
92090634670. 2
92090634671. 3
92090634672. 4

Question Number : 69 Question Id : 9209068772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qrél | et 11 SRIeR et

e fBTEH! JREBR U
- 214
RICEIANIEED RISEIER I
(A) | s & (1) | R
(B) | AW TagHHaR () | ¥
(C) | Harie 2xwE () | SATRT w1 T
(D) | . f4. ggEngE (V) | g
Gl Fafaimye sRia) I Fas
1. (A (B(IV): (C)(1); (D))

2. (A(IVY; B)=(lil); (C)-(I); (D)~()
3. (A (B)(I): (C)(1): (D)-(IV)
4. (A(); (B)=(V); (C)=(ill); (D)~(1l)

Options :

92090634673. 1
92090634674. 2
92090634675. 3
92090634676. 4

Question Number : 69 Question Id : 9209068772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qrél | et 11 SRIeR et

e fBTEH! JREBR U
- 214
RICEIANIEED RISEIER I
(A) | s & (1) | R
(B) | AW TagHHaR () | ¥
(C) | Harie 2xwE () | SATRT w1 T
(D) | . f4. ggEngE (V) | g
Gl Fafaimye sRia) I Fas
1. (A (B(IV): (C)(1); (D))

2. (A(IVY; B)=(lil); (C)-(I); (D)~()
3. (A (B)(I): (C)(1): (D)-(IV)
4. (A(); (B)=(V); (C)=(ill); (D)~(1l)

Options :

92090634673. 1
92090634674. 2
92090634675. 3
92090634676. 4

Question Number : 69 Question Id : 9209068772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qrel | g1l 1| SReR gesal

e fBTEH! JREBR U
- 214
aE®/ AfEd1 PISCIEEG!
(A) | 3mam & () | IR™E
(B) | AW TagHHaR () | ¥
(C) | HaiE SHE () | SITRT UehT AT
(D) | =0. [9. avewnyE (V) | g
Gl Fafaimye sRia) I Fas

1. (A-(I): (B)-(V); (C)~(1); (D)~(1l)
2. (A-(IV); (B)=(Ill); (C)=(II); (D)~()
3. (A (B)=(I); (C)-(1): (D)-(IV)
4. (AR(1); (B)=(IV): (C)y=(lll); (D)=(11)

Options :

92090634673. 1
92090634674. 2
92090634675. 3
92090634676. 4

Question Number : 70 Question Id : 9209068773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%@Wﬁmmwmmmaﬁvmm
?

1. PEs

2. 9=

3. THlan

4. EERA
Options :

92090634677. 1



92090634678. 2
92090634679. 3
92090634680. 4

Question Number : 70 Question Id : 9209068773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂmmﬁmmwwmmmm
?

1. @Eadl

2. 93

3. qwlam

4, SEERA
Options :

92090634677. 1
92090634678. 2
92090634679. 3
92090634680. 4

Question Number : 70 Question Id : 9209068773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁq#@mﬁm@a&mwﬁmmﬁmmm
?

1. PlGadl

2. dfA

3. e

4. SHARA
Options :

92090634677. 1
92090634678. 2
92090634679. 3
92090634680. 4



Question Number : 71 Question Id : 9209068774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el Aifecdddl S/ HitTd A=l [d9R SI0arHTd! GHl&DH S 00 SHTd APRTdTd?
A Y, oS

B. Ul Heaehdl
C. HagTeiieidl, FPRIEE
D. hdl, AARGH
E. YRRy, Qe
Wrelid gAYy SRR IR Faer:
1. &ddD
2. $ddB
3. $aUE
4. &ddA, C
Options :

92090634681. 1
92090634682. 2
92090634683. 3
92090634684. 4

Question Number : 71 Question Id : 9209068774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el difigdddl S Hitll el TR SRUarTs! SHl@Ths 01 S¥d arTdma?
A, U, S

B. iuedl, Heehdl
C. Hdeefiedl, FbRIEH
D. WHA HARGH
E. WHOw, el
eitd garaiHyH Sde 3R Has:
1. &ddD
2. $ddB
3. ddE
4. &AUA, C
Options :

92090634681. 1
92090634682. 2
92090634683. 3
92090634684. 4

Question Number : 71 Question Id : 9209068774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@l Aiedddl S AR ArE f[daR SRuarETd! SHiadIds 01 S/E1d arTara?
A U, S

B. iuedl, Heehdl
C. Hdeefiedl, FbRIEH
D. WHA HARGH
E. WHOw, el
eitd garaiHyH Sde 3R Has:
1. &ddD
2. $ddB
3. ddE
4. &AUA, C
Options :

92090634681. 1
92090634682. 2
92090634683. 3
92090634684. 4

Question Number : 72 Question Id : 9209068775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS e THlen HI0aEl fad _ H0 31awue 3Me?

1. @Ed

2. fEaA

3. dHd

4. SHldeH
Options :

92090634685. 1
92090634686. 2
92090634687. 3
92090634688. 4



Question Number : 72 Question Id : 9209068775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DIV AlgaFHardl FTHIET HIVAMGHT fad B0 TS 3HTe?

1. aEd

2. f&@A

3. dHH

4. SHlbeH
Options :

92090634685. 1
92090634686. 2
92090634687. 3
92090634688. 4

Question Number : 72 Question Id : 9209068775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DIV AlgaFHardl FTHIET HIVAMGHT fad B0 TS 3HTe?

1. aEd

2. f&@A

3. dHH

4. SHlbeH
Options :

92090634685. 1
92090634686. 2
92090634687. 3
92090634688. 4

Question Number : 73 Question Id : 9209068776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HERIPTAT AMHUTSTORA STdldid did Saal Fafg a1 Sid Sd?
1. BRIAR sfor St
2. St 3nfor ggquTe
3. TR 3107 ORI
4. PRI 3ftr T

Options :

92090634689. 1
92090634690. 2
92090634691. 3
92090634692. 4

Question Number : 73 Question Id : 9209068776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HERIYTAT dIHUISTOgTi STerdia Al e Fafe & Hid oed?
1. R oy 9t
2. St 3T ggquTeH
3. THTH 3107 ORTe
4, BRIAET i) THm

Options :

92090634689. 1
92090634690. 2
92090634691. 3
92090634692. 4

Question Number : 73 Question Id : 9209068776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HERIPTAT AMHUTSTORA STdldid did Saal Fafg a1 Sid Sd?
1. SR sfor 2t

2. St 3nfor ggquTe
3. TR 3107 ORI
4. PRI 3ftr T

Options :

92090634689. 1
92090634690. 2
92090634691. 3
92090634692. 4

Question Number : 74 Question Id : 9209068777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yrogTl sreriyd Sraeddid g8 TS dIiiRes Ul 8T8 HIVd! WSal?
1. drdt 39 dareh gre "gsedt
2. dmit 3 gt Badt Adsal
3. Tt O gdior 3for HieR gi= 8T8 usTil
4. g 33 g<it, 9o onfor gy gidl gre arasd

Options :

92090634693. 1
92090634694. 2
92090634695. 3
92090634696. 4

Question Number : 74 Question Id : 9209068777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o Sreriyd A T8 WaSd! ardiRes U] 8T8 HIvKd! WraSl?
1. drdi 33 4T g1 "ase
2. gy gfi=it wadl wrusT
3. drdl gy gdlor 3T Hiey giwl gTe wiuscl
4. g 33 g, 3o onfor Y aidl grs Arasd

Options :

92090634693. 1
92090634694. 2
92090634695. 3
92090634696. 4

Question Number : 74 Question Id : 9209068777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ao SreHtyd raeddid B18 WS drdies S 818 HIvrdt WS
1. gl 33 4T gTS "gse
2. gt gy gt Sad! wrusTt
3.l g gdior 3for WieR gie 8T8 wiusdl
4. g 33 g<il, 3o onfor ey Tidl grs drasd

Options :

92090634693. 1
92090634694. 2
92090634695. 3
92090634696. 4

Question Number : 75 Question Id : 9209068778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G AR e 9 SHIadl-9l. 513, Udd-U183; 63d-39, $bd-Hedq

L. g

2. Ulddh

3. uWi%

4. 3G
Options :

92090634697. 1
92090634698. 2
92090634699. 3
92090634700. 4

Question Number : 75 Question Id : 9209068778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG AR e 9 S-S, 513, Udd-U163; 63d-39, $d-Hedq

1. ®aq

2. Uladh

3. W&

4. °q
Options :

92090634697. 1
92090634698. 2
92090634699. 3
92090634700. 4

Question Number : 75 Question Id : 9209068778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ AR 98¢ ¥4 d@l-S1. 513, UI6d-UId3, 33d-33d, $Bd-Hdq,

1. ®BY
2. Ulddh
3. uWi%
4. 3Q

Options :

92090634697. 1
92090634698. 2
92090634699. 3
92090634700. 4

Question Number : 76 Question Id : 9209068779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHIUEP] TeTd A SHURI Ysg, i@l (Usaalal)

1L Fdl

2. PMH

3. foar

4 W
Options :

92090634701. 1
92090634702. 2
92090634703. 3
92090634704. 4

Question Number : 76 Question Id : 9209068779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 Fdl

2. @H

3. fdar

4. W
Options :

92090634701. 1
92090634702. 2
92090634703. 3
92090634704. 4

Question Number : 76 Question Id : 9209068779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHIVEP] TeTd A FHURT Ysg @] (UsTel)

1 Fdl

2. @H

3. fdar

4. W
Options :

92090634701. 1
92090634702. 2
92090634703. 3
92090634704. 4

Question Number : 77 Question Id : 9209068780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Sufd

2. wwIay

3. faemE

4. ggurit
Options :

92090634705. 1
92090634706. 2
92090634707. 3
92090634708. 4

Question Number : 77 Question Id : 9209068780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wigerel @ fiRauetd _ giren (Yeran srll O s Faen

1. Sufd

2. wwIay

3. faemE

4. ggurit
Options :

92090634705. 1
92090634706. 2
92090634707. 3
92090634708. 4

Question Number : 77 Question Id : 9209068780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Sufd

2. wwIay

3. faemE

4. ggurit
Options :

92090634705. 1
92090634706. 2
92090634707. 3
92090634708. 4

Question Number : 78 Question Id : 9209068781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wrelietes! gl e gat SIS sfesan
1. Seflel- Frgars
2. JH-H
3. UrEH - A
4. 3ad-TUglc
Options :

92090634709. 1
92090634710. 2
92090634711. 3
92090634712. 4

Question Number : 78 Question Id : 9209068781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arciats! faegrdf e goi arel sl

1. Seflel- Frgars

2. JH-H

3. UrEH - A

4. 3ad-TUglc
Options :

92090634709. 1
92090634710. 2
92090634711. 3
92090634712. 4

Question Number : 78 Question Id : 9209068781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wrelietes! gl e gat SIS sfesan
1. Seflel- Frgars
2. JH-H
3. UrEH - A
4. 3ad-TUglc
Options :

92090634709. 1
92090634710. 2
92090634711. 3
92090634712. 4

Question Number : 79 Question Id : 9209068782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



etadd! Y& Asa DI

1. Aiar

2. wfqard

3. Py

4. Wigyry
Options :

92090634713. 1
92090634714. 2
92090634715. 3
92090634716. 4

Question Number : 79 Question Id : 9209068782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Udieie! Y Usa HIUN?
1. Afbard
2. Widard
3. By
4. wffyrd
Options :

92090634713. 1
92090634714. 2
92090634715. 3
92090634716. 4

Question Number : 79 Question Id : 9209068782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



etadd! Y& Asa DI

1. Aiar

2. wfqard

3. Py

4. Wigyry
Options :

92090634713. 1
92090634714. 2
92090634715. 3
92090634716. 4

Question Number : 80 Question Id : 9209068783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬂmmmwmﬁwﬂﬂ"mwwmmw
?

1. dH
2. Ud
3. @H
4. UM
Options :

92090634717. 1
92090634718. 2
92090634719. 3
92090634720. 4

Question Number : 80 Question Id : 9209068783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬂqﬁm ST ST dTdTex A1 63 Add” 1 a1eTd ae- FEHER b et
?

1. dH
2. U
3. gH
4. U
Options :

92090634717. 1
92090634718. 2
92090634719. 3
92090634720. 4

Question Number : 80 Question Id : 9209068783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%HW TR ST dTdTex A1 63 Add” 1 a/eTd ae FEaaR fad gat
?

1. dH
2. U@
3. aH
4. UH
Options :

92090634717. 1
92090634718. 2
92090634719. 3
92090634720. 4

Question Number : 81 Question Id : 9209068784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | ardl |l SRIeR ekl :

ardi-| A S]]
(A) | Councellor (1) | Frga Reie
(B) | Due date () | saumr
(C) | Expert () | TS
(D) | Vocation (v) | a9
Arelia TaiaiEyE ae) 3w Adar

1. (A1) (B)(); (C-(II); (D}(IV)
2. (A)(lI); (B)1): (CI-(IV): (D)~(II
3. (A-(V); (B)-(Ill; (C)~(I1); (D))
4. (A(I); BY(I); (C-(llt); (D}~(1V)

Options :

92090634721. 1
92090634722. 2
92090634723. 3
92090634724. 4

Question Number : 81 Question Id : 9209068784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | ardl |l SRIeR ekl :

ardi-| A S]]
(A) | Councellor (1) | Frga Reie
(B) | Due date () | saumr
(C) | Expert () | TS
(D) | Vocation (v) | a9
Arelia TaiaiEyE ae) 3w Adar

1. (A1) (B)(); (C-(II); (D}(IV)
2. (A)(lI); (B)1): (CI-(IV): (D)~(II
3. (A-(V); (B)-(Ill; (C)~(I1); (D))
4. (A(I); BY(I); (C-(llt); (D}~(1V)

Options :

92090634721. 1
92090634722. 2
92090634723. 3
92090634724. 4

Question Number : 81 Question Id : 9209068784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grdl | ardl |l SRIeR ekl :

ardi-| A S]]
(A) | Councellor (1) | Frga Reie
(B) | Due date () | gaur™
(C) | Expert () | TS
(D) | Vocation (v) | a9
Arelia TaiaiEyE ae) 3w Adar

1. (A=) (B)=(1); (C)=(1); (D)—(IV)
2. (AR(I); (B (CHIV): (D11
3. (AR(IV); (B)=(I); (C)=(11); (D))
4. (A1) (B)(I): (C)=(1); (D}(IV)

Options :

92090634721. 1
92090634722. 2
92090634723. 3
92090634724. 4

Question Number : 82 Question Id : 9209068785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT 1 Y2 YATata! HIord 3 TRIdT 4 giara?
1. UrqdTeTd USun= AR
2. TR 9 Y ® Y
3. fwa
4. UG HHIE 193 W

Options :

92090634725. 1
92090634726. 2
92090634727. 3
92090634728. 4



Question Number : 82 Question Id : 9209068785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT 1 YeaTd Yelatd! HI0Td 2 B! HINd glara?
1. UIdHIeAd GSu AR
2. TR Y Y 'y
3. fwa
4. UG HHE 193 WK

Options :

92090634725. 1
92090634726. 2
92090634727. 3
92090634728. 4

Question Number : 82 Question Id : 9209068785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIRT 1 YeaTd Yeladd! HIvTd 2 A1a! HISd glaraz
1. UIHIed 9Sul AR
2. IR 9 Yot &4
3. fEa
4. WO HHS 193 TR

Options :

92090634725. 1
92090634726. 2
92090634727. 3
92090634728. 4

Question Number : 83 Question Id : 9209068786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dIR GRS TgUrS
1. @F 9/ AT B0
2. TH 9 UHHDIA SIS0l

3. aF 9 g o Yl fafgor
4. dIdid Yegidl TRER HdY WY H0|

Options :

92090634729. 1
92090634730. 2
92090634731. 3
92090634732. 4

Question Number : 83 Question Id : 9209068786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qIH GBI TS
1. SHF 919 ] 0]
2. T 91 UhHSBH SIS0l
3. GF I Y e Yol o
4. IIOTCIE Vs IR Yy WY HI0]
Options :
92090634729. 1
92090634730. 2

92090634731. 3
92090634732. 4

Question Number : 83 Question Id : 9209068786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dIR GRS TgUrS
1. @F 9/ AT B0
2. TH 9 UHHDIA SIS0l

3. aF 9 g o Yl fafgor
4. dIdid Yegidl TRER HdY WY H0|

Options :

92090634729. 1
92090634730. 2
92090634731. 3
92090634732. 4

Question Number : 84 Question Id : 9209068787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N0 2ac; HIOTAT HING ST 3HTE?
1. ugis
2. Sl
3. HHSt
4, BRA
Options :

92090634733. 1
92090634734. 2
92090634735. 3
92090634736. 4

Question Number : 84 Question Id : 9209068787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. dgi

2. 3Rdl

3. $HS!

4. HRE
Options :

92090634733. 1
92090634734. 2
92090634735. 3
92090634736. 4

Question Number : 84 Question Id : 9209068787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T eg HIVTET HINTA STl SHTR?
1. Wi
2. 3l
3. ®HSt
4, BRA
Options :

92090634733. 1
92090634734. 2
92090634735. 3
92090634736. 4

Question Number : 85 Question Id : 9209068788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DI YeGTH gd GUITE?
1. T Upd Nearl FUK d&d §hdh leied]
2. o5 UEpd gl Ul EIgA e
3. W U%pd YsgrHl ¥UN dad 7 Heted
4. Vo5 URpd Vs YT AN Fdedl

Options :

92090634737. 1
92090634738. 2
92090634739. 3
92090634740. 4

Question Number : 85 Question Id : 9209068788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT AT Tgd BUITE?
1. T[e UEPd YeaT=dl FUN §d 81 reied]
2. W U%hd Weaidl Hell g Faied]
3. o5 URpd ST U d5¢ A HTeied
4. o UEpd UGN U AN Freted]

Options :

92090634737. 1
92090634738. 2
92090634739. 3
92090634740. 4

Question Number : 85 Question Id : 9209068788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHIU TeaTH Tagd FeUd?

4.

Options :

Hes W YeaTedl $UId S8 81d Al
o5 Whd Yeard! Weft €13 e

o5 Whd el I d&d A Acied]

e WP ATy Uy TN Fireted]

92090634737. 1
92090634738. 2
92090634739. 3
92090634740. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
920906280
No

null

Question Id : 9209068789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Frdild IdRT drgA A1 efd uyi= ¥ feaer—

U g foga

-aTg UG ST TRS HFTAUI 81 HeHUS! WRIgws] 38, Jrams!

Ud& -9 TR e Tiigsl. IR faffi=g sie g a1 wofivmmd a1 s
FoaTd W:UrgH el g, a3d HI0d 00 o] . sfelesduiiak A1 &
IFd. &R HRd 81 G 90y HRd 339, g WTdl SiywrEet fo=m urarsed
TN WIS fRigmneds e de QRiae uifesl. FRU fasrr=n @RT urn HieRd gl
3Te. 949 fAFE fARER Mo 3fd R FeRar 81 U Wwad Vs Hhaad
fed UIfes. U HaeH A did $Sar] IHSHARIUIG WUl U 34d. §
o= $9 grea?

Sub questions

Question Number : 86 Question Id : 9209068790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ARESEEIFCRL RS
1. HWdddl
2.  TREREcEl
3. Widdd!
4.  dddl
Options :

92090634741. 1
92090634742. 2
92090634743. 3
92090634744. 4

Question Number : 87 Question Id : 9209068791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [T 3ie 819 81 9E-=l B0l U R 3HTe?

1. didUdER

2. gidar

3. YsUg

4. RO
Options :

92090634745. 1
92090634746. 2
92090634747. 3
92090634748. 4

Question Number : 88 Question Id : 9209068792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y HRATET TR 91 BT 3M1e?

1. TAReRa

2. HI&R

3. HYHdl

4. o
Options :

92090634749. 1
92090634750. 2
92090634751. 3
92090634752. 4

Question Number : 89 Question Id : 9209068793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W HTUgTETdT AT fRraqor
1. Weams
2. JHHIHMS
3. Ul
4. IO
Options :

92090634753. 1
92090634754. 2
92090634755. 3
92090634756. 4

Question Number : 90 Question Id : 9209068794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HSUrd] gHGHGRYUTE! ¢@uil U2 UgrE! 38d ¥ A3l S asgdhdl 3le?

1. gudd

2. fa@my

3. Wil

4. HahH Ul
Options :

92090634757. 1
92090634758. 2
92090634759. 3
92090634760. 4

Question Id : 9209068789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Greifed IART A ATaE STeTRd uyit I fergi—

OIS g fAga-argd U3 el TR Y0l g1 HaHug] WRiddde] 318, Jrng!
Ul Addi-d TgR Fd grfgs. IREl faff= sfe g a1 wgoltymm a1 Smr=
FoaId WU el lfgel. avd HI0E HUU0! o] . sfeleisdauiiar A1 d&
Yohd. FIER YR gF B I0Y HRd 33d. € Wl Jiyvarnel fo=a urreed
TeUrs Wiyl fRieones e da Ridd uifigsl. HRUT [aHTm=n @1 uE WaRd e
318, 3UT o RRER MeEar sfd R FReRar 81 I8 had Jsad Tad
fed Ui, Ul YahH H8d dRd doardl IHHERYUNT <@l U2 3Rid. §
faoE &9 Area?

Sub questions

Question Number : 86 Question Id : 9209068790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ARESEEIFCRL RS
1. HWdddl
2.  TREREcEl
3. Widdd!
4.  dddl
Options :

92090634741. 1
92090634742. 2
92090634743. 3
92090634744. 4

Question Number : 87 Question Id : 9209068791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [T 3ie 819 81 9E-=l B0l U R 3HTe?

1. didUdER

2. gidar

3. YsUg

4. RO
Options :

92090634745. 1
92090634746. 2
92090634747. 3
92090634748. 4

Question Number : 88 Question Id : 9209068792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y HRATET TR 91 BT 3M1e?

1. TAReRa

2. HI&R

3. HYHdl

4. o
Options :

92090634749. 1
92090634750. 2
92090634751. 3
92090634752. 4

Question Number : 89 Question Id : 9209068793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W HTUgTETdT AT fRraqor
1. Weams
2. JHHIHMS
3. Ul
4. IO
Options :

92090634753. 1
92090634754. 2
92090634755. 3
92090634756. 4

Question Number : 90 Question Id : 9209068794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HSUrd] gHGHGRYUTE! ¢@uil U2 UgrE! 38d ¥ A3l S asgdhdl 3le?

1. gudd

2. fa@my

3. Wil

4. HahH Ul
Options :

92090634757. 1
92090634758. 2
92090634759. 3
92090634760. 4

Question Id : 9209068789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Greifed IART A ATaE STeTRd uyit I fergi—

OIS g fAga-argd U3 el TR Y0l g1 HaHug] WRiddde] 318, Jrng!
Ul Addi-d TgR Fd grfgs. IREl faff= sfe g a1 wgoltymm a1 Smr=
FoaId WU el lfgel. avd HI0E HUU0! o] . sfeleisdauiiar A1 d&
Yohd. FIER YR gF B I0Y HRd 33d. € Wl Jiyvarnel fo=a urreed
TeUrs Wiyl fRieones e da Ridd uifigsl. HRUT [aHTm=n @1 uE WaRd e
318, 3UT o RRER MeEar sfd R FReRar 81 I8 had Jsad Tad
fed Ui, Ul YahH H8d dRd doardl IHHERYUNT <@l U2 3Rid. §
faoE &9 Area?

Sub questions

Question Number : 86 Question Id : 9209068790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ARESEEIFCRL RS
1. HWdddl
2.  TREREcEl
3. Widdd!
4.  dddl
Options :

92090634741. 1
92090634742. 2
92090634743. 3
92090634744. 4

Question Number : 87 Question Id : 9209068791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [T 3ie 819 81 9E-=l B0l U R 3HTe?

1. didUdER

2. gidar

3. YsUg

4. RO
Options :

92090634745. 1
92090634746. 2
92090634747. 3
92090634748. 4

Question Number : 88 Question Id : 9209068792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y HRATET TR 91 BT 3M1e?

1. TAReRa

2. HI&R

3. HYHdl

4. o
Options :

92090634749. 1
92090634750. 2
92090634751. 3
92090634752. 4

Question Number : 89 Question Id : 9209068793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W HTUgTETdT AT fRraqor
1. Weams
2. JHHIHMS
3. Ul
4. IO
Options :

92090634753. 1
92090634754. 2
92090634755. 3
92090634756. 4

Question Number : 90 Question Id : 9209068794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HSUrd] gHGHGRYUTE! ¢@uil U2 UgrE! 38d ¥ A3l S asgdhdl 3le?
1. Twdar

2. faorg

3. W

4. HdhH Ul
Options :

92090634757. 1
92090634758. 2
92090634759. 3
92090634760. 4

Sub-Section Number : 3
Sub-Section Id : 920906281
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209068795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Yo ld Siddl arA rarei foedn uyi I fergr—

ST AT G dele

e AU TR

Slh deqH A

dfagd Sfddd 311211
fFri-wfaar-ieed sR
SR SATfda = Bl
"3l - G TS §
Tl TTed &0 T 1111

EHEICHIEGICEG

3TEH BIgA MEaUl

T =1 i T 11311
SR 3R fUaes
Bdd YIS SR IuUSa
BIEREIEAGIEIIE]
A Udrs & Wied 11¥11

31fOT Tt TiHd Sef!

fRier Tegd ofTd WU

T e Shid TR

&I SISl ST OS] 11411
Aaard o Seld 3t
Ay qd ITSal
ol HeFTd I 11|

Sub questions

Question Number : 91 Question Id : 9209068796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T PHI0T LAY A2
1. fadr
2. iddd 3R
3. ¥FQ
4. "It
Options :

92090634761. 1
92090634762. 2
92090634763. 3
92090634764. 4

Question Number : 92 Question Id : 9209068797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR BB I gieht?
1. f8v9, 9e, fudes, @rd
2. o, o1, A, TS
3. ke, fudes, #1e, A
4. o A, s, fea

Options :

92090634765. 1
92090634766. 2
92090634767. 3
92090634768. 4

Question Number : 93 Question Id : 9209068798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRS HIvr] Hidar fFafor Srean
1. e, arcre, Sewida, widl
2. afF®, Bidl, arded, 3fgyd
3. RIS, T, JgHd, HIafd
4. o, sreyd, Hrafes, widl

Options :

92090634769. 1
92090634770. 2
92090634771. 3
92090634772. 4

Question Number : 94 Question Id : 9209068799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiddd BV UGS A 3ga?
1. HuISH, WgTsit
2. oiiwaErs, e
3. v, wert
4. TrEy, aEmel
Options :

92090634773. 1
92090634774. 2
92090634775. 3
92090634776. 4

Question Number : 95 Question Id : 9209068800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 3G

2. fagamn

3. ehidrEn

4. Al
Options :

92090634777. 1
92090634778. 2
92090634779. 3
92090634780. 4

Question Id : 9209068795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Yo ld Siddl arA rarei foedn uyi I fergr—

ST AT G dele

e AU TR

Slh deqH A

dfagd Sfddd 311211
fFri-wfaar-ieed sR
SR SATfda = Bl
"3l - G TS §
Tl TTed &0 T 1111

EHEICHIEGICEG

3TEH BIgA MEaUl

T =1 i T 11311
SR 3R fUaes
Bdd YIS SR IuUSa
BIEREIEAGIEIIE]
A Udrs & Wied 11¥11

31fOT Tt TiHd Sef!

fRier Tegd ofTd WU

T e Shid TR

&I SISl ST OS] 11411
Aaard o Seld 3t
Ay qd ITSal
ol HeFTd I 11|

Sub questions

Question Number : 91 Question Id : 9209068796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T PHI0T LAY A2
1. fadr
2. iddd 3R
3. ¥FQ
4. "It
Options :

92090634761. 1
92090634762. 2
92090634763. 3
92090634764. 4

Question Number : 92 Question Id : 9209068797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR BB I gieht?
1. f8v9, 9e, fudes, @rd
2. o, o1, A, TS
3. ke, fudes, #1e, A
4. o A, s, fea

Options :

92090634765. 1
92090634766. 2
92090634767. 3
92090634768. 4

Question Number : 93 Question Id : 9209068798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRS HIvr] Hidar fFafor Srean
1. e, arcre, Sewida, widl
2. afF®, Bidl, arded, 3fgyd
3. RIS, T, JgHd, HIafd
4. o, sreyd, Hrafes, widl

Options :

92090634769. 1
92090634770. 2
92090634771. 3
92090634772. 4

Question Number : 94 Question Id : 9209068799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiddd BV UGS A 3ga?
1. HuISH, WgTsit
2. oiiwaErs, e
3. v, wert
4. TrEy, aEmel
Options :

92090634773. 1
92090634774. 2
92090634775. 3
92090634776. 4

Question Number : 95 Question Id : 9209068800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 3G

2. fagamn

3. ehidrEn

4. Al
Options :

92090634777. 1
92090634778. 2
92090634779. 3
92090634780. 4

Question Id : 9209068795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Yo ld Siddl arA rarei foedn uyi I fergr—

ST AT G dele

e AU TR

Slh deqH A

dfagd Sfddd 311211
fFri-wfaar-ieed sR
SR SATfda = Bl
"3l - G TS §
Tl TTed &0 T 1111

EHEICHIEGICEG

3TEH BIgA MEaUl

T =1 i T 11311
SR 3R fUaes
Bdd YIS SR IuUSa
BIEREIEAGIEIIE]
A Udrs & Wied 11¥11

31fOT Tt TiHd Sef!

fRier Tegd ofTd WU

T e Shid TR

&I SISl ST OS] 11411
Aaard o Seld 3t
Ay qd ITSal
ol HeFTd I 11|

Sub questions

Question Number : 91 Question Id : 9209068796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T PHI0T LAY A2
1. fadr
2. iddd 3R
3. ¥FQ
4. "It
Options :

92090634761. 1
92090634762. 2
92090634763. 3
92090634764. 4

Question Number : 92 Question Id : 9209068797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR BB I gieht?
1. f8v9, 9e, fudes, @rd
2. o, o1, A, TS
3. ke, fudes, #1e, A
4. o A, s, fea

Options :

92090634765. 1
92090634766. 2
92090634767. 3
92090634768. 4

Question Number : 93 Question Id : 9209068798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRS HIvr] Hidar fFafor Srean
1. e, arcre, Sewida, widl
2. afF®, Bidl, arded, 3fgyd
3. RIS, T, JgHd, HIafd
4. o, sreyd, Hrafes, widl

Options :

92090634769. 1
92090634770. 2
92090634771. 3
92090634772. 4

Question Number : 94 Question Id : 9209068799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiddd BV UGS A 3ga?
1. HuISH, WgTsit
2. oiiwaErs, e
3. v, wert
4. TrEy, aEmel
Options :

92090634773. 1
92090634774. 2
92090634775. 3
92090634776. 4

Question Number : 95 Question Id : 9209068800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 3G

2. fagamn

3. ehidrEn

4. Al
Options :

92090634777. 1
92090634778. 2
92090634779. 3
92090634780. 4

Sub-Section Number : 4
Sub-Section 1d : 920906282
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209068801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension



@reilel IRT a1 draY 3A1eid I fergi—
TR WG o oTd

YR AT A1 dedrd faRIUTR Siigas, HAX0MHeS SHTIdedl okl ATHLIY gldld,
SydiqAdEe @1 AR gidrd. A9 Fdl WU 61, ARUMA @R SAie sdddl SHIdTd. i
faR $a TR R WU WY SR ARUMFARd HIVNTE SRS fiesd. [ JioM
Jg-cR faae Srdl; Uor Sehiaiardl HR01 3Td o Aies B8 3R gidl. § SRS
AR A& @R MY HIAdl HURH dOR Aed difigel. R 98 ey 3Ud” a1
gryfen Iadtael € My Wiffiael o, JegHe TR IS A1gHan e, 78 @ SHaled!
gHd P d Pifdeg fordd el Gyl emiard g g dia- s
uTfdad s ST Ris Srvarandl sififeen del. @l feesd, 7. 7idl, U sdagdd 8%
U I SIS ST ATAR GTd HISTUl Hdg Mg, HIU § FeRelauul urd &
SUIR HIYH 31E. TRUIGAE HIVRITE AU A4 3.

Uy -

Sub questions

Question Number : 96 Question Id : 9209068802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU SHRATHATST AR HGT AN
1. dgH e
2. FEd
3. oifd
4. MU
Options :

92090634781. 1
92090634782. 2
92090634783. 3
92090634784. 4

Question Number : 97 Question Id : 9209068803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Y YA = IAATT el It BT
1. T4 W® Sifdey I
2. S o 9Td et derdl urdd

3. PIEH T ATl
4. o 3 HISUOT 7l AT Bl

Options :

92090634785. 1
92090634786. 2
92090634787. 3
92090634788. 4

Question Number : 98 Question Id : 9209068804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4, SIS G UehIal

Options :

92090634789. 1
92090634790. 2
92090634791. 3
92090634792. 4

Question Number : 99 Question Id : 9209068805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il AT HIUTT ST A1 3Mgd?
1. OThdR &Yy GoR™ &9, 7. Wt
2. I fe=e, | il U, SaeRdad e
3. WARW 9, 9raiad, 4l feosd
4. ATt I dY, U. JdEdd Jee

Options :

92090634793. 1
92090634794. 2
92090634795. 3
92090634796. 4

Question Number : 100 Question Id : 9209068806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey Hiolt St
1. &
2. M
3. "
4, W
Options :

92090634797. 1
92090634798. 2
92090634799. 3
92090634800. 4

Question Id : 9209068801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension



@reilel IRT a1 draY 3A1eid I fergi—
TR WG o oTd

YR AT A1 dedrd faRIUTR Siigas, HAX0MHeS SHTIdedl okl ATHLIY gldld,
SydiqAdEe @1 AR gidrd. A9 Fdl WU 61, ARUMA @R SAie sdddl SHIdTd. i
faR $a TR R WU WY SR ARUMFARd HIVNTE SRS fiesd. [ JioM
Jg-cR faae Srdl; Uor Sehiaiardl HR01 3Td o Aies B8 3R gidl. § SRS
AR A& @R MY HIAdl HURH dOR Aed difigel. R 98 ey 3Ud” a1
gryfen Iadtael € My Wiffiael o, JegHe TR IS A1gHan e, 78 @ SHaled!
gHd P d Pifdeg fordd el Gyl emiard g g dia- s
uTfdad s ST Ris Srvarandl sififeen del. @l feesd, 7. 7idl, U sdagdd 8%
U I SIS ST ATAR GTd HISTUl Hdg Mg, HIU § FeRelauul urd &
SUIR HIYH 31E. TRUIGAE HIVRITE AU A4 3.

Uy -

Sub questions

Question Number : 96 Question Id : 9209068802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU SHRATHATST AR HGT AN
1. dgH e
2. FEd
3. oifd
4. MU
Options :

92090634781. 1
92090634782. 2
92090634783. 3
92090634784. 4

Question Number : 97 Question Id : 9209068803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Y YA = IAATT el It BT
1. T4 W® Sifdey I
2. S o 9Td et derdl urdd

3. PIEH T ATl
4. o 3 HISUOT 7l AT Bl

Options :

92090634785. 1
92090634786. 2
92090634787. 3
92090634788. 4

Question Number : 98 Question Id : 9209068804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4, SIS G UehIal

Options :

92090634789. 1
92090634790. 2
92090634791. 3
92090634792. 4

Question Number : 99 Question Id : 9209068805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il AT HIUTT ST A1 3Mgd?
1. OThdR &Yy GoR™ &9, 7. Wt
2. I fe=e, | il U, SaeRdad e
3. WARW 9, 9raiad, 4l feosd
4. ATt I dY, U. JdEdd Jee

Options :

92090634793. 1
92090634794. 2
92090634795. 3
92090634796. 4

Question Number : 100 Question Id : 9209068806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey Hiolt St
1. &
2. M
3. "
4, W
Options :

92090634797. 1
92090634798. 2
92090634799. 3
92090634800. 4

Question Id : 9209068801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension



@reilel IRT a1 draY 3A1eid I fergi—
TR WG o oTd

YR AT A1 dedrd faRIUTR Siigas, HAX0MHeS SHTIdedl okl ATHLIY gldld,
SydiqAdEe @1 AR gidrd. A9 Fdl WU 61, ARUMA @R SAie sdddl SHIdTd. i
faR $a TR R WU WY SR ARUMFARd HIVNTE SRS fiesd. [ JioM
Jg-cR faae Srdl; Uor Sehiaiardl HR01 3Td o Aies B8 3R gidl. § SRS
AR A& @R MY HIAdl HURH dOR Aed difigel. R 98 ey 3Ud” a1
gryfen Iadtael € My Wiffiael o, JegHe TR IS A1gHan e, 78 @ SHaled!
gHd P d Pifdeg fordd el Gyl emiard g g dia- s
uTfdad s ST Ris Srvarandl sififeen del. @l feesd, 7. 7idl, U sdagdd 8%
U I SIS ST ATAR GTd HISTUl Hdg Mg, HIU § FeRelauul urd &
SUIR HIYH 31E. TRUIGAE HIVRITE AU A4 3.

Uy -

Sub questions

Question Number : 96 Question Id : 9209068802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU SHRATHATST AR HGT AN
1. dgH e
2. FEd
3. oifd
4. MU
Options :

92090634781. 1
92090634782. 2
92090634783. 3
92090634784. 4

Question Number : 97 Question Id : 9209068803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Y YA = IAATT el It BT
1. T4 W® Sifdey I
2. S o 9Td et derdl urdd

3. PIEH T ATl
4. o 3 HISUOT 7l AT Bl

Options :

92090634785. 1
92090634786. 2
92090634787. 3
92090634788. 4

Question Number : 98 Question Id : 9209068804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4, SIS G UehIal

Options :

92090634789. 1
92090634790. 2
92090634791. 3
92090634792. 4

Question Number : 99 Question Id : 9209068805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I AT BT SHIIET ATd M8 d?
1. ATheR dY, R &, 1. e
2. I fe=ep, |, i, U. SaERdd JgE
3. WARW 9, 9raiad, 4l feosd
4. ATt I dY, U. JdEdd Jee

Options :

92090634793. 1
92090634794. 2
92090634795. 3
92090634796. 4

Question Number : 100 Question Id : 9209068806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey Hiolt St
1. &
2. M
3. "
4. W
Options :

92090634797. 1
92090634798. 2
92090634799. 3
92090634800. 4



